\NRANSHSIN®

BFEBL
\NANSHSIN®
SPE Planetary Gearbox

HAOFHEHR—ROFPEENmEE GUW

1T 2 1% WZ

TX

ZIHE
Distributor

Committed to building a world-class transmission brand

ﬁj]a:fh_'lﬁ% I}ILE’JEFI.1§E}JEIEIH$




COMPANY PROFILE

FEBI(HAREARAS (FHRAEET ) MR, £7. HE. RET—HNTLRE
Bildey, FTEEFSBERREY, FRIZEATISBAL YUK, IHREEESETR
MRS, FA-—RETTFREBTNTEFRTRENNUEEFTRREMY, FEBISIA
ESEFMTES, BATASREFSRERANE, ARFHEASEFERBY~0, BE
PRI BT BB R R

AFBETERNIEFLNER, EEFSEFRLEEER, TEEIISE "H8" BoBEE
B, EESINERNIEZEEHRANT IR, EMERRHE >8R ERTT U~ & ot
Ro EARRMERYT, TEBIRESRIRHE "BNTHERER—RNPEEZDHRE" AE
CERS, MBEtHR TR R RS

WANSHSIN SEIKOU (HUNAN) CO., LTD. (hereafter referred to as “ WANSHSIN" ) is professional gear
motor manufacturer integrates R&D, production ,sales and service. WANSHSIN mainly manufactures high
precision gear motors which are widely used in robots, machine tools,

solid garages and other industria

automation. As a gear motor manufacturer and complete intellic
WANSHSIN introduced advanced import pro
strict high quality requirement for worldwide
quality brand in domestic gear motor industry.

nt automation solutions provider,

sing equipment, adopte ced technology, to meet the

sustomers. All efforts made V SHSIN a reputable and high

To satisfy domestic
strategic layout, determined to follow the path of building a strong enterprise for a stronger country,

and foreign customers’ requirements, WANSHSIN fully opened the intemnationa

WANSHSIN pays more attention to the quality improvement of current products and development of new
products, and successively introduced high—tech talents, both domestic and international. In the future,
WANSHSIN will continuously keep the faith that “Committed to building a world—class transmission brand”
and strive to the development of the industrial intelligent system of the world

02

05
11
18
24
30
35
40
45
50

95
60

65

70
76

85

PLANETARY
GEARBOX

INTERNAL

STRUCTURE
R AL B %8 A

Selection of planetary gearbox
WABZGER2,
WADZ## GRS
WVRBZZ G2
WAEZGERRN,
WPF #7255,
WPL#2 G 2AEN
WABRZ#7/ 2R,
WADR #2282
WVRBR #7727 28,
WAER #2835,
WPFR #7232,
WPLR #2232,

WR # 5% f g 4l

series right-ANGLE gearbox

WTN 3 sz s
series HOHO\A Rotary Phtform

BRI S A

INSTALLATION AND USAGE

01




02

B THTE R — RN o B 5

\NANSHSIN®

INTERNAL

STRUCTURE
L0a ik A R R 41 -

Installation and usage

Pz

Judging operation mode

(%)

TTERGREE i(EQ.2)

Calculate the reduction ratio

JREE i(Eq.2)

e reduction ratio

THERN A B AE T EN A AR

Calculate the needed average torque Calculate the needed average torque

T,.(Eq.3) T,.(Eq.3)

R R AR

Calculate the maximum acceleration Tgmq((Eq4)
torque at the application end

gERRARET N

torque at the application end

17 R AURER L

torque at the application end

THEN B s P SR n,, ROEEVLEE S HEE n,(Eq.4) YES

Calculate the average speed Ny required at the application end and the rated output speed HZH(Eq.4) of the reducer

1 PR DA HF ik PR IR EE

Choose larger gearbox and smaller reduction ratio

YES

HEREN S L2 R m A F,, e F,, (Eq.6)

Calculate the average radial force Fz,mon the output of the gearbox FZW(EQB)

THERENE L LR FEMD F,, #WEAF, OFFE

Calculate the allowable values of the average radial force FlvBand axial forces anB on the output of the gearbox

i FRER AUROER L

torque at the application end

NO

YES

YL BEET S BOAE I R i B =

Select the desired accuracy and output shaft form

RS
Selected

Committed To Building A World-class Transmission Brand \NANSHSIN®

S5 ERRIEH 2 BIWE

—RONBRENFESUT AR RELHNBREAFEUT AR
%S 4xJ,, % =J,
Jo REIRE ) DARE
I le operation The mos ropriate a ati er
e ion inertia mus must rm > follc rmule
orm llowing formula
7S 4xJ 7o
J: Loadinertia J_: M
® LuEE T, _ _
Output shaft torque
T2c T — ]
T | |
I I
T2d |
I I }
I
©® i il R
%ﬂ;ﬁﬁ jj FZra . FZaa — _
Output shaft load F2rc FZac _
Fap. o
Fzm\ and ; {
I
\
| o
©® R
output speed
L I _
N, Ny } A _1 _
nzp
t, t f L
Tovee
B8 /Time

L,

ED x100% , t,..=t+t+t,

R 4713 88 subscript description
a. &, c &, doEEE, p. =1k (Eq.1)

o~ Mo
I = nwork
n, : DAk HIRE n
n Motor ¢ ut spe n
T,,=3 nzeXtaXTz: +n2cXthT2¢3 +n2dXthT2d3 ( Eq.3 )
N, Xt 4N, XE+N, Xt
TZmaszmBXistX n
Ks Ks EEREL / 11NBS
7 1.0 0~1000
# 1.1 1000~1500
ES 1.3 1500~2000
# 1.6 2000~3000
1.8 3000~5000
TmB D&KL Motor maxiumum output torque
N ORENUERKE Cearvoxoperatingefficiency ( Eq4)
-n = L
nZa_nQd_ zanC
2N Xt AN XL AN, XE,
am T+t +t,
n
Ny =2 (Eg.5)

3 3 3
Fom=3 N XEXFos AN, XEXF, +N,XEXFy
N, Xt,+N,Xt 4N, Xt,

3 3 3
=3 nZaXtaXFzza +anXthF2rc +n2dXthTZad
N, Xt +N, Xt 4N, Xt

F

2am

(Eq.6)

03



04

BAFITEH R RN P EEshm R

Z 1T E RIEH] /series planetary gearbox _

\NANSHSIN®

R 1T ERIEH] /series planetary gearbox

(i
WVRBR .‘“G

Z T EJIEH /series planetary gearbox _

%5'Jf‘}%/)§iﬁ$ﬂ Iseries right-angle gearbox

WTN

Z | ch 28 jE %5 32 & /series hollow rotating platform

WAB SERIES

Series planetary gearbox
N7 EROEL

FEATURES
e o

TEBESHP#HMX A AR EWET,
TR R EE N,
TRERAHREIAIT,

HENEARE R DUE S SNt S H iR,
Wi R ARBSNR SR EHRC62,
u%’*%%?fié’qﬁﬁé&ﬂ%%ﬂ'léo

Wi | B EIME OB R,
PR B R EN SR RIRES,

iR 5 DiAERER B EE A,
IR KB B AT AR 1% 1B

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

Committed To Building A World-class Transmission Brand

\NANSHSIN®

05



06

WAB SERIES

A TSR R Bz

\NANSHSIN®

INDICATION FOR MODEL

SELECTION
HR A S &R

(W | AB | mm (090 ) mm (010 | [ K || P2 |mm mixms

R L
Ratio
3
4
5
6
7
8
10
15
Mg 20
Size 25
042 35
060 40
B 090 50
Model 115 60
AB 142 70
it K& AD 180 80
Brand AE 220 100

Motor
K- reference
K-Key
S-JtH
S-Smooth

BE
Precision
P1EZ R
Precision backlash
P2 iR R
Standard backlash
PO BIEZE R
Super precision backlash

GENERAL NOTICES

1T 52700

Wi, BES. HE

R BE B 0 A R
ITREEERFR
HERTHEONME IR

ANA RTINS &

DA BB SHEZRDIRMR

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

WAB SER|ES Committed To Building A World-class Transmission Brand \NANSHSIN®

PLANETARY GEARBOX

A%

Specification

BUE R HEE
Rated output torque T 2N

£ 1241 45 /Emergency stop torque T2nOT

HUE 8\ % /Rated input speed NN

£ K\ ¥ % /Maximum iutput speed N18

HBIEZEMR /Super precision backlash PO

¥& 2 ¥ B /Precision backlashP1

FrAE 1 Bg /Standard backlash P2

45 ME [Torsional rigidity
VR4 71 /Allowable radial force Foas
24 8 F1/Allowable axial force Fzas

& A% 65 /Lifespan

K [Efficiency

EH & /Weight

& FIBE /Working temperature
JE78 /Lubricating
B33P &% /1P Grade
%% 77 6] /Installation direction

1% 8 (n1=3000rpm, 7 7 #)
Noise level (n1=3000rpm off load)

By

Unit

Nm

rnm

arcmin

arcmin

arcmin

Nm/arcmin
N
N
hr

%

kg

G

dB(A)

® FIRMIBER R} /Performance

Rk

Stage

1,2
1,2
1,2

1,2
1,2
1,2
1,2

1,2
1,2
1,2
1,2
1,2

TR L

Ratio

3
4
5
6
7

8
10
15
20
25
30
35
40
50
60
70
80
100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~10
15~100
3~100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~100

3~100
3~100
3~100

WAB042 WABO60 WAB090 WAB115 WAB142 WAB180 WAB220

19
20
22
20
19
17
14
20
19
22
20
19
17
22
20
19
17
14

5000
10000

0.6
0.8

50 130 208 342 588
55 140 290 542 1050
60 160 330 650 1200
55 150 310 600 1100
50 140 300 550 1100
45 120 260 500 1000
40 100 230 450 900
55 130 208 342 588
50 140 290 542 1050
60 160 330 650 1200
55 150 310 600 1100
50 140 300 550 1100
45 120 260 500 1000
60 160 330 650 1200
55 150 310 600 1100
50 140 300 550 1100
45 120 260 500 1000
40 100 230 450 900

= {5 5UE $ 1 %B Triple rated output torque

5000 4000 4000 3000 3000

10000 8000 8000 6000 6000

<2 <2 <2 <2 <2
<3 <3 <3 <3 <3
<3 <3 <3 <3 <3
<5 <b <b <b <b
<5 <b <b <b <b
<8 <8 <8 <8 <8
7 14 25 50 145

1530 3250 6700 9400 14500
765 1625 3350 4700 7250
20000
=97%
=94%

1.2 3.7 7.8 14.5 29
1.8 4.1 10.8 17.5 33
-10°C ~90°C
4 A S S8 SH A /Synthetic lubricating grease
IP65
E 2 77 [ /In any direction

<58 <60 <63 <65 <67

1140
1700
2000
1900
1800
1600
1500
1140
1700
2000
1900
1800
1600
2000
1900
1800
1600
1500

50000
25000

48
60



WAB SERIES

ROTATIONAL INERTIA OF

REDUCER

o RN ENIRE

i

Specification

HEREI

Rotational inertia J1

1)}&& tt ( i=Nin/Nout )
1. Ratio( i=Nin/Nout )

08

By ik TR EE

Unit Stage Ratio

3

N o o A

10
15
20
25
30
35
2 40
50
60
70
80
100
2. /% KN0i%E }1 46 T28 =60% of Tanor

kg * cm?

2. Maximum acceleration torque T 28 =60% of T 2noT

A TSR R Bz

WAB042 WAB060 WAB090 WAB115 WAB142 WAB180 WAB220

0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

0.16
0.14
0.13
0.13
0.13
0.13
0.13
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

0.61
0.48
0.47
0.45
0.45
0.44
0.44
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13

3.25
2.74
2.71
2.65
2.62
2.58
2.57
0.47
0.47
0.47
0.47
0.47
0.47
0.44
0.44
0.44
0.44
0.44

9.21
7.54
7.42
7.25
7.14
7.07
7.03
2.71
2.71
2.71
2.71
2.71
2.71
2.57
2.57
2.57
2.57
2.57

\NANSHSIN®

28.98
23.67
23.29
22.75
22.48
22.59
22.51
7.42
7.42
7.42
7.42
7.42
7.42
7.03
7.03
7.03
7.03
7.03

69.61
54.37
53.27
51.72
50.97
50.84
50.56
23.29
23.29
23.29
23.29
23.29
23.29
22.51
22.51
22.51
22.51
22.51

3. F i #4 100rpm fEA TRt o E

3. Output speed100rpm,acting on the center of the output shaft

WAB S ERI ES Committed To Building A World-class Transmission Brand \NANSHSIN®
W% BA\%
oLl (8 ocr
45 L 3 L2 5]
@ 1 i —_—
; = {)7 15 16
© @@
gt gg :I = IR NHLrani
ne L cslls
2 ' Gl :
§\®§\ 2D C6 § ¢ %
&
< (4 d} @ I <
L8
DIMENSION oo
SINGLE SECTION oo
o R~F (#7%, WKL i=3~10)
R~F/Dimension WAB042 WABO060 WAB090 WAB115 WAB142 WAB180 WAB220
D1 50 70 100 130 165 215 250
D2 35 5.5 6.6 9 " 13 17
D36 13 16 22 32 40 55 75
D4 g6 35 50 80 110 130 160 180
D5 15 18 30 40 50 70 85
D6 M4*0.7P M5*0.8P M8*1.256P M12*1.76P M16*2.0P M20*2.6P M20*2.6P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 &5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 4.5 4.8 7.2 10 12 15 15
L9 10 12,56 19 28 36 42 42
C1 46 70 90 90 145 145 200 200 200 235
C2 M4*0.7P M4 M5 M5 M8 M8 M12 M12*1.75P M12*1.76P M12*1.75P
C3 8 <14 <19 <19 <24 <24 <35 <3b5/<42 <42 <42/<5bb
Ca 26 315 41 41 59 60 81 81 114 117
C5 30 50 70 70 110 110 1143 114.3 114.3 200
C6 5 5 5 6 14 14 19 19 24 20
c7 42 60 80 80 130 130 180 180 180 220
C8 86 115 128 145 163 1995 2215 279 318 377
B1h9 5 5 6 10 12 16 20
H1 15 18 245 35 43 59 79.5

09



WAB SERIES

A TSR R Bz

\NANSHSIN®

WAD SERIES

WA

L LN
8
0OL1 7 19 acr
45| 13 5|
= 1 i R
i [ = L5 16
‘ —
B S = i{ 3 ‘ |
D6 B 7 @& ©
[
é\ N\ @ _Q\I — \E 2
Q§§ aD2 C6 o 02 %{}
A
\#J
DIMENSION =
HHAS CRILY,
DOUBLE SECTION
o R~F (Wi, WKL i=15~100)
R <t /Dimension WABO042 WABO060 WABO090 WAB115 WAB142 WAB180 WAB220
D1 50 70 100 130 165 215 250
D2 3.5 55 6.6 9 11 13 17
D3 j6 13 16 22 32 40 55 75
D4 g6 35 50 80 110 130 160 180
D5 15 18 30 40 50 70 85
D6 M4*0.7P M5*0.8P M8*1.25P M12*1.75P M16*2.0P M20*2.5P M20*2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 55 6 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 7 8 10 12 15 20
L8 4.5 4.8 7.2 10 12 15 15
L9 10 12.6 19 28 36 42 42
C1 46 70 90 70 90 145 90 145 145 200 200
C2 M4*0.7P M4 M5 M4 M5 M8 M5 M8 M8*1.25P M12*1.75P M12%1.75P
C3 8 <14 <19 <14 <19 <24 <19 <24 <24/<28 <35 <42
C4 26 315 41 315 41 B9 41 60 66 80 114
C5 30 50 70 50 70 110 70 110 110 114.3 114.3
C6 B 5 5 5 6 14 6 14 10 9 24
C7 42 60 80 60 80 130 80 130 130 180 180
Cc8 107 1415 1645 1625 179 197 214 2445 340 352.5 4415
B1 h9 5 5 6 10 12 16 20
H1 15 18 245 B5) 43 59 79.5

Series planetary gearbox

RA1TEROEN]

FEATURES
= o

TRBRSHLHRA—FREWRT,
BRBASIIA
TRERBARERIL,

A EMTER IR SRS .
0 R AR AR TS A EIHROE2,
AR B T B R ST

H73| FESME DS BRI
BB TR

WA S DAMERERBIARE AR,
FERBA R EN T TS 1538,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

Committed To Building A World-class Transmission Brand

\NANSHSIN®

11



WAD SERIES

A TSR R Bz

WAD SER|ES Committed To Building A World-class Transmission Brand \NANSHSIN®

\NANSHSIN®

PLANETARY GEARBOX

® RN BE R B} /Performance

I L : IR L
speriE on T i UEL \WADO047 WADO064 WADO90 WAD110 WAD140 WAD200 WAD255
4 19 48 130 270 560 1100 1700
b 22 60 160 330 650 1200 2000
: 6 19 50 140 300 550 1100 1800
7 19 50 140 300 550 1100 1800
8 14 40 100 230 450 900 1500
10 14 40 100 230 450 900 1500
20 19 48 130 270 560 1100 1700
HUE A%
Rated output torqueT 2N Nm 25 22 60 160 330 650 1200 2000
35 19 50 140 300 550 1100 1800
40 19 48 130 270 560 1000 1700
2 50 22 60 160 330 650 1200 2000
60 19 50 140 300 550 1100 1800
70 19 50 140 300 550 1100 1800
80 14 40 100 230 450 900 1500
100 14 40 100 230 450 900 1500
INDICATION FOR MODEL £ 231 46 /Emergency stop torqueTanoT Nm 1,2 4~100 = {50 E B H 51 4B MTriple rated output torque
SELECTION GENERAL NOT'CES BUE A 3% /Rated input speed NN 1,2 4~100 5000 5000 4000 4000 3000 3000 2000
rom
= — N & AHI N Maximum iutput speed N18 1,2 4~100 10000 10000 8000 8000 6000 6000 4000
* YLIPE SR ® TTEIINAL 1 4~10 - <2 <2 <2 <2 <2 <2
#B %5 % 75 B /Super precision backlashPO arcmin
2 20~100 - <3 <3 <3 <3 <3 <3
1 4~10 - <3 <3 <3 <3 <3 <3
¥ 21 1 /Precision backlash P1 arcmin
2 20~100 - <b <b <b <b <5 <b
. = - NF, BS HE 1 4~10 - <5 <5b <5 <5 <5 <5
(W Jmm| AD Jmm (010 ] mm [010 |mm [ p1 | mm x5 H\; e o i1 575 Standard backiashP2  arcmin
| Motor - II;&’E%ﬁ—t = 2 20~100 - <8 <8 <8 <8 <8 <8
- P PSS I
;)i;%iit reference L O ERREOIME MERIE Morsional rigidity ~ Nm/arcmin 1,2 4~100 7 13 31 82 151 440 1006
- AN FRFNF BE Maximum Easdie tareue M2KB Nm 1.2 4~100 425 125 235 430 1300 3064 5900
— T =2 g s £ X <
4 SEMRESHAZRSEMRT ¥4 [ J3/Allowable axial force Faee N 1,2 4~100 990 1050 2850 2990 10590 16660 29430
5
6 - Type, model and torque fE A% /Lifespan hr 1,2 4~100 20000
7 — Ratio or output speed
8 — Working conditions and connection methods 0% /Efficiency % 1 4~10 =97%
10 — Quantity and installed machine name 2 20~100 =>94%
15 — Input mode and input speed
AR 20 — Motor brand model or flange and motor shaft size - . 1 4~10 0.7 1.1 2.9 54 11.9 31.6 56.1
§E/We|ght kg
Size 25 2 20~100 1 1.7 4.2 8 15.9 36.9 70.4
047 35 wE - A s . .
064 40 Precision i B3 38 & /Working temperature C 1,2 4~100 ~-10°C ~90°C
EX]! 090 50 PO I bR JE & /Lubricating 1,2 4 B0 33 3 B /Synthetic lubricating grease
Model 110 60 Super precision backlash
AB 140 70 P1IEZIS R 337 &4 /IP Grade 1.2 4~100 IP65
o AD 200 80 PreCISISl’j PaCkI?Sh L% 7 16 /Installation direction 1,2 4~100 £ % 77 [ /in any direction
Brand AE 255 100 P2 FRET FR X
Standard backlash W2 {f (1 =3000r0m, 7 7L4) dB(A) 1,2 4~100 <56 <58 <60 <63 <65 <67 <70

Noise level (n1=3000rpm,off load)

12



WAD SERIES

A TSR R Bz

ROTATIONAL INERTIA OF

REDUCER

o RN ENIRE

Mg

Specification

gl
Rotational inertia J1

’I/\}ﬁﬁ tt ( i=Nin/N0ut )
1. Ratio( i:Nm/Nout )

14

rr - S -3

4 0.03

5 0.03

: 6 0.03

7 0.03

8 0.03

10 0.03

20 0.03

kg « cm? 25 0.03
35 0.03

40 0.03

2 50 0.03

60 0.03

70 0.03

80 0.03

100 0.03

2.5 K& 146 T28 =60% of Tanot

2. Maximum acceleration torque T 28 =60% of T 2noT

0.14
0.13
0.13
0.13
0.13
0.13
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

0.51
0.47
0.45
0.45
0.44
0.44
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13

2.87
2.71
2.61
2.67
2.57
2.57
0.47
0.47
0.47
0.44
0.44
0.44
0.44
0.44
0.44

\NANSHSIN®

7.54
7.42
7.14
7.14
7.03
7.03
2.71
2.71
2.71
2.57
2.57
2.57
2.57
2.57
2.57

25.03
23.29
22.48
22.48
22.51
22.51
7.42
7.42
7.42
7.03
7.03
7.03
7.03
7.03
7.03

WADO047 WAD064 WAD090 WAD110 WAD140 WAD200 WAD255

58.31
53.27
50.97
50.97
50.56
50.56
23.29
23.29
23.29
22.51
22.51
22.51
22.51
22.51
22.51

3. % 100rom fEB T @t OB

3. Output speed100rpm,acting on the center of the output shaft

WAD SERIES

8

L6

Committed To Building A World-class Transmission Brand

#D10h7
o(h
203

D6
VL2

oD1h7
2D2

2D3h7

L3

DBHT
vi8

oD4h7
oD5
2D7

DIMENSION

SINGLE SECTION

[}
=)

o R~F (#7, mEuktti=4~10)

R~f/Dimension WADO047
D1H7 -
D2 -
D3 h7 -
D4 h7 -

D6 -
D7 -
D8 H7 -
D9 -
D10h7 -
L1 -
L2 -
L3 -
L4 -
L5 -
L6 -
L7 -
L8 -
C1 -
C2 -
C3 -
C4 -
Cb -
Ce -
Cc7 -

WADO064
20
31.5
40
64
79
7xM5bx0.8P
86
B
8x4.5
70

67x%2.0

0-Ring
WADO090 WAD110
31.56 40
50 63
63 80
90 110
109 135
7xM6x 1P
118 145
6 6
8x5.5 8x5.5
95 120
12 12
18.8 18.8
6 6
30 29
10 10
7 38
7.5 10
7 7
90 145 145 200
M5 M8 M8 M12
<19 <24 <24 <35
41 59 60 81
70 110 110 1143
6 14 14 19
80 130 130 180
98 116 1285 1505
90x2.5 1156%x2.5

WAD140

50
80
100
140
168

179
8

12x6.6

152
12
17

38
14.6
10
12
7
200

M12*1.75P
<35/<42

81

114.3

19
180

173.5
146 %3

\NANSHSIN®

WAD200
80
125
160
200
233
TMxM6x 1P 11xM8x126P 11xM10x 16P 12x M16 x 2.0P

247
10
12x9
212
16
22.5
8
50
15
12
15
10
200

M12*1.75P

<42
114
114.3
24
180
225.5
204 x4

WAD255
100
140
180
2565
280

300
12
16x13.5
255
20
30.5
12
66
20
18
20
10
235
M12%1.75P
<42/<b5b
117
200
20
220
268.5
245x5

15



10

WAD SERIES

A TSR R Bz

(8

L6

|
D6
yi2

D107
205
oC3

[T

oD1h7

2D2
oD3h7
oD4h7

oD5

oD7

SN #q
|

DBHT

V18

Cf

C4

DIMENSION

DOUBLE SECTION
o R~f (WF, AWEL i=20~100) )

R ~F /Dimension
D1H7
D2
D3 h7
D4 h7
D5
D6
D7
D8 H7
D9
D10
D11 h7
D12
L1
L2
L3
L4
L5
L6
L7
L8
C1
C2
C3
C4
Cb
C6
C7
C8
oD

WADO047

WADO064
20

31

.5

40
64
79

7xM5x0.8P

86

3

51
8x4.5
70
63.2

70
M4
<14
315
50
5
60
102.5

90

80
115.5

67x2.0

\NANSHSIN®

2

i\

EI
o0 11

0-Ring

WADO090 WAD110 WAD140 WAD200 WAD255
31.5 40 50 80 100

50 63 80 125 140

63 80 100 160 180

90 110 140 200 255

109 135 168 233 280

7xM6x 1P TIxM6x 1P 11xM8x 1.25P 11xM10x 1.5P 12x M16 x 2.0P

118 145 179 247 300

6 6 8 10 12

77 98 125 160 190
8x5.5 8x5.5 12x6.6 12x9 16x13.5
95 120 152 212 255
89.2 109.2 139.2 199.2 254.5

12 12 12 16 20

13.5 18.6 17 22.5 20

6 6 6 8 12

30 29 38 50 66

10 10 14.6 15 20

7 8 10 12 18

7.5 10 12 15 20

7 7 7 10 10

70 90 145 90 145 145 200 200

M4 M5 M8 M5 M8 M8%1.25P M12*1.75P M12%1.75P

<14 <19 <24 <19 <24 <24/<28 <35 <42
315 41 59 41 60 66 80 114
50 70 110 70 110 110 114.3 114.3

5 6 14 6 14 19 9 30
60 80 130 80 130 180 180 180
11565 132 150 1435 1735 234.5 260 332.5
90x2.5 115%x2.5 146%x3 204 x4 245x5

WAD SERIES

Committed To Building A World-class Transmission Brand

\NANSHSIN®

DIMENSION

OUTPUT SHAFT DISK SURFACE
HhMEER -~ /Output Shaft Disk Dimension

WAD110

WADO047

WAD064/090

WAD255

R~} /Dimension WADO047 WADO064 WADO090 WAD110 WAD140 WAD200 WAD255
D1 H7 12 20 31.56 40 50 80 100
D2 20 31.6 50 63 80 125 140
D3 h7 28 40 63 80 100 160 180
D4 h7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 M3*0.5P M5*0.8P M6*1.0P M6*1.0P M8*1.25P M10*1.5P M16*2.0P
D8 H7 3 5 6 6 8 10 12
D10 3.4 4.5 5.5 3.8 6.8 9 13.5

17



WVRBS ER| ES Committed To Building A World-class Transmission Brand \NANSHSIN®

A TSR R Bz

WVRBSERIES

\NANSHSIN®

Series planetary gearbox
N7 ERE

FEATURES
7= dn i R

TRBRSHILMR A—FREHRIT,

BHRBA IR

TRRR ARSI,

SN BT S A S
R AR R TS B A EIHRC2,

PESEE ] T

73| AESNE DRI HENIRIT,

MR SR ENETRRER S,
INDICATION FOR MODEL

NS DR AIUAHE R, SELECTION GENERAL NOTICES

DEKIB AR RN FIBE RO 32,
° PR SR * ITERMA

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact

. o . - HF, BS HiE
area to improve the rigidity and output torque. [ w J—[VRB] — [010]—[010]—[ K J—[ P2 ]—Eﬁﬁiﬂ% NP .
| | Motor : fﬁgz;z_iﬁg
The gears are carburized and quenched to the HRC62 with low JOE B K-a2 reference &E&;%EE’J;IW% %
carbon steel surface for optimum wear and impact toughness. Ratio S-Stk : )\ijﬁﬁ%a)\j] & *
3
—_ T fid =N v ey X <
Gears refer to foreign imported software-assisted design 4 SEMRESRAZRSEMRY
to obtain the best tooth shape to reduce noise. : - Type, model and torque
7 — Ratio or output speed
The input terminal is connected to the motor shaft in a double-tight 8 - Working conditions and connection methods
manner to obtain the maximum clamping force and zero 10 - Quantity and installed machine name
A 15 — Input mode and input speed
backlash [enEtr transmission. AR — Motor brand model or flange and motor shaft size
I 20
Size 25
042 35 BE
060 40 Precision
=7 090 50 o
P2 AR
Model 115 60 Standard backlash
VRB 140 70
b hE 180 80
Brand 220 100

19



A TSR R Bz

WVRBSERIES

WVRBS ER| ES Committed To Building A World-class Transmission Brand \NANSHSIN®

\NANSHSIN®

ROTATIONAL INERTIA OF

BRI BE R EL /Performance
o8 o i S8 ML WVRB042 WVRBOBO WVRB0S0 WVRB115 WVRB140 WVRB180 WVRB220

3 19 50 130 208 342 588 1140
4 20 55 140 290 542 1050 1700 s —p =
5 22 60 160 330 650 1200 2000 ° RURHFEIE R
1 6 20 55 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
10 14 40 100 230 450 900 1500
15 20 55 130 208 342 588 1140
e - 20 19 50 140 290 542 1050 1700
Rated output torque T2n 25 22 60 160 330 650 1200 2000
30 20 55 150 310 600 1100 1900
35 19 50 140 300 550 1100 1800
2 40 17 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600 Spj&’;ﬁza“on B ;Eé‘e AEL  WVRB042 WVRB0GO WVRB090 WVRB115 WVRBI40 WVRB180 WVRB220
100 14 40 100 230 450 900 1500 3 0.0s3 022 1.2 5.3 20 44 90
% 1541 4B /Emergency stop torque TanoT Nm 1,2 3~100 = fE 5 E 1 %8 Triple rated output torque & 0.041 0.17 0.95 o 12 28 62
RN B /Rated input speed NN 1,2 3~100 5000 5000 4000 4000 3000 3000 2000 5 0.036 016 086 3.6 14 22 52
BARABEMoimmivputsoced N5 12 3~100 10000 10000 8000 8000 6000 6000 4000 1 6 0:0347 015 0:82 3.3 13 18 47
oo, TN : T - - - - - -5 7 0.032 014 079 3.2 12 16 42
) 15-100 016 <s <s <s <s <3 <s 8 0.031 0.4  0.77 3.1 12 15 40
SHERIM MTorsional rigidity ~~ Nm/arcmin - 1,2 3~100 3 7 14 25 50 145 225 10 0.0 014 075 3 1 14 38
2 ¥2 971 /Allowable radial forceFzse N 1,2 3~100 780 1530 3250 6700 9400 14500 50000 15 0035 014 072 28 U1 12 36
2 ¥ 971 Allowable axial force Frss N 12 3~100 390 765 1625 3350 4700 7250 25000 sama o+ on 20 0.034 013 072 2.8 11 12 35
{# Mm% ILifespan hr 12 3100 20000 otational inertia J1 25 0.034 0.13 0.71 2.8 11 12 35
_— I R
2 15~100 >94% : : : :
o . 1 3~10 06 15 3.7 78 16 36 53 2 40 003 013 07 27 10 1 33
2 15~100 0.7 16 42 11 17 37 54 2J I U [ UL ES
M/ Working temperature o 12 3-100 Y — 60 0.03 013 0.69 2.7 10 11 33
J878 /Lubricating 1,2 4 B3 78 i BE /Synthetic lubricating grease 70 0.03 0.13 0.69 2.7 10 1 33
B547% 4% 1P Grade 12 3~100 IP65 80 003 013 069 27 10 R 33
2% 75 18] /Installation direction 1,2 3~100 £ 75 18 /In any direction 100 0.03 0.13 0.69 2.7 10 (i 33
GISTSmsmTON  dBA) 12 3-100 <56 <58 <60 <63 <65 <67 <70 s e atararoce T —80% of Tavor 3. oot st ot s oo ot st

21



WVRBSERIES

B 4TS 5 — 7 4 oh S = 5 \NANSHSIN® VAV s RS ndl=leY Committed To Building A World-class Transmission Brand \NANSHSIN®

1% LN B A%
oLl (8 m} oLl c8 0c7
5 L7 L2 5] 5 L7 L2 5

‘ — L5 L6 i T L5 L6
H1 -
‘ © 9 /e § | ST | ﬁ@) -
Elj B8 ] il | - T HECA Sk 3l =4 \ )
o QL "I % | / L L] L4 @ E @
| \26 - u © ©
| S o - = E&
S —_ B - i =) Sy T wmll & T,
S ] (6 Qo % N o T O &
S D2 4 % O
S A\ %4 [ - L8
D \;/l | 2036 19

DIMENSION oL DIMENSION

SINGLE SECTION " e DOUBLE SECTION
o R~ (#%, Hoktti=3~10) o R~ (WA, RELE i=15~100)
Dimension(single stage,Ratio i=3~10) Dimension(double stage,Ratio i=15~100)
R~f/Dimension  WVRB060 WVRB090 WVRB115 WVRB140 WVRB180 WVRB220 R~f/Dimension WVRB042  WVRB060  WVRB090  WVRB115  WVRB140  WVRB180  WVRB220
D1 70 100 130 165 215 250 D1 - 70 100 130 165 215 250
D2 5.5 6.6 9 11 13.5 17 D2 - 5.5 6.6 9 11 13.5 17
D3j6 16 22 32 40 55 75 D3j6 - 16 22 32 40 55 75
D4 g6 50 80 110 130 160 180 D4 g6 - 50 80 110 130 160 180
D5 18 30 40 50 70 85 D5 - 18 30 40 50 70 85
D6 M5*0.8P M8*1.25P M12%1.75P M16%2.0P M20%*2.5P M20%*2.5P D6 - M5*0.8P M8*1.25P  M12*1.75P  M16%2.0P  M20*2.5P  M20%*2.5P
D7 80 116 152 185 240 290 D7 - 80 116 152 185 240 290
L1 60 90 115 140 180 220 L1 - 60 90 115 140 180 220
L2 37 48 60 95 105 138 L2 - 37 48 60 95 105 138
L3 7 10 7 13 20 30 L3 - 7 10 7 13 20 30
L4 1.5 1.5 2 3 3 3 L4 - 1.5 1.5 2 3 3 3
L5 25 32 40 63 70 90 L5 - 25 32 40 63 70 90
L6 2 3 5 5 6 7 L6 - 2 3 5 5 6 7
L7 6 8 10 12 15 20 L7 - 7 8 10 12 15 20
L8 4.8 7.2 10 12 15 15 L8 - 4.8 7.2 10 12 15 15
L9 12.5 19 28 36 42 42 L9 = 12.5 19 28 36 42 42
C1 70 90 90 145 145 200 200 200 235 C1 - 70 90 70 90 145 90 145 145 200 200
C2 M4 M5 M5 M8 M8 M12 M12%1.75P M12%1.75P M12%*1.75P C2 - M4 M5 M4 M5 M8 M5 M8 M8*1.25P M12*1.75P M12*1.75P
c3 <14 <19 <19 <24 <24 <35 <3b5/<42 <42 <42/<55 c3 - <14 <19 <14 <19 <24 <19 <24  <24/<28 <35 <42
C4 315 41 41 59 60 81 81 114 117 C4 - 315 41 315 41 59 41 60 66 80 114
Ch5 50 70 70 110 110 114.3 114.3 114.3 200 Cb - 50 70 50 70 110 70 110 110 114.3 114.3
C6 5 5 6 14 14 19 19 24 20 C6 - 5 B B 6 14 6 14 10 9 24
c7 60 80 80 130 130 180 180 180 220 c7 - 60 80 60 80 130 80 130 130 180 180
C8 115 128 145 163 1995 2215 279 318 377 C8 - 1415 1545 1625 179 197 214 2445 340 352.5 4415
B1ho 5 6 10 12 16 20 B1h9 - 5 6 10 12 16 20
H1 18 24.5 35 43 59 79.5 H1 - 18 24.5 35 43 59 79.5

22



24

WAE SERIES

WA

A TSR R Bz

Series planetary gearbox

RA1TEROEN

FEATURES
7= ot

FRBRSHLHRA—GREWRT,
BRBA BRI
TRRRBHESIRI,
AT URE SR S 6,
R AR AR TS A EIHROE2,
AR T B R ST

#5731 FESNE DB BRI
BB TR

WA S DEMERERBIANE AR,
ERBA KR EN TS NN 1535,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

\NANSHSIN®

WAE SERIES

INDICATION FOR MODEL

SELECTION
o HIFAES KR

Committed To Building A World-class Transmission Brand

\NANSHSIN®

[W ) [ AE |mm (010 ) mm [ 010 || K || P2 |mm zinmis

A&

Size

050

070

Bl 090

Model 120

AB 155

h hE AD 205
Brand AE 235

R L
Ratio

K-5#
S-St

Motor
reference

BE
Precision
P11 AR
Precision backlash
P2 iR R
Standard backlash
PO EBEEHE
Super precision backlash

GENERAL NOTICES

1T 52700

WA, BES. HE

R BB H 0 A R
ITREREERR
HERTHEOME IR

ANA RTINS &

DX BB SHEZRTIAMR

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

25



WAE SERIES BESEEitaitabollelcam WAE SERIES

Committed To Building A World-class Transmission Brand

\NANSHSIN® \NANSHSIN®

PLANETARY GEARBOX

® AR BEH £lPerformance
- LA ¥® MEE WAE050 WAE070 WAE00 WAE120 WAE155 WAE205 WAE235 ROTATIONAL INERTIA OF

e

3 20 55 130 208 342 588 1140
4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
1 6 20 55 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600 P
s - =
10 14 40 100 230 450 900 1500 o FURVFERNHEE
15 20 55 130 208 342 588 1140
. - 20 19 50 140 290 542 1050 1700
Rated output torque Tx 25 22 60 160 330 650 1200 2000
30 20 55 150 310 600 1100 1900
35 19 50 140 300 550 1100 1800
2 40 17 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
100 14 40 100 230 450 900 1500
£ {& #1145 /Emergency stop torque TanOT Nm 1,2 3~100 = 50 E B H F1 4B Mriple rated output torque
HUE 5 \ 1% /Rated input speed NN 1,2 3~100 5000 5000 4000 4000 3000 3000 2000
rem ~ = =
BAH N B Maximum iutput speed N18 1,2 3~100 10000 10000 8000 8000 6000 6000 4000 . e I REK \WAE050 WAE070 WAE090 WAE120 WAE155 WAE205 WAE235
. L 3~10 - <2 <2 <2 <2 <2 <2 3 0.03 016  0.61 325 921 2898 69.61
RS % 15 5/ Super precision backlash PO @arcmin
2 15~100 - <3 <3 <3 <3 <3 <3 4 0.03 0.14 0.48 2.74 7.54  23.67 54.37
] 1 3~10 - <3 <3 <3 <3 <3 <3 5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
¥ 2125 B8 /Precision backlash P1 arcmin
2 15~100 - <b <b <b <b <b <b 1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
) 1 3~10 <12 <5 <b <b <b <5 <b 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
R/ B /Standard backlash P2 arcmin
2 15~100 <1 <8 <8 <8 <8 <8 <8 8 0.03 0.13 0.44 2.58 7.07 22.59 50.84
NI M /Torsional rigidity Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225 10 0.03 0.13 0.44 2.57 7.03 22.51 50.56
RUFE 71 /Allowable radial force Foas N 1,2 3~100 780 1530 3250 6700 9400 14500 50000 15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
2% [E) F1/Allowable axial forceFzes N 1,2 3~100 390 765 1625 3350 4700 7250 25000 - ) 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
H R B kg« cm
& A% & /Lifespan hr 1,2 3~100 20000 Rotational inertia J1 & 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
) 1 3~10 =97% 30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
K [Efficiency %
2 15~100 =94 % 35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
1 3~10 0.6 1.2 3.7 7.5 16 36 b3 2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
& /Weight kg
2 15~100 0.7 1.6 4.2 10.7 17 37 54 50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
& FAIRE /Working temperature °C 1,2 3~100 -10°C ~90°C 60 0.03 0.03 0.13 0.44 2.57 7.03 22.51
JE 8 /Lubricating 1.2 & AR 98 5 BE /Synthetic lubricating grease 70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
B &% /IP Grade 1.2 3~100 IP65 80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
2% 77 [ /Installation direction 1,2 3~100 1£ & 75 [@ /In any direction 100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
Nor B (=300 AL dB(A) 1.2 3~100 <56 <b8 <60 <63 <65 <67 <70 TR EE (i=Nin/Nout ) 2.5 K h05% F1 46 T28 =60% of Tanot 3. M ¥ 100rpm A Tt ch oL B
1. Ratio ( i=Nin/Nout ) 2. Maximum acceleration torque T 28 =60% of T 2noT 3. Output speed100rpm,acting on the center of the output shaft

20 27



WAE SERIES

BoH FITIE R — R b E 3 & WAE SERIES

Committed To Building A World-class Transmission Brand

\NANSHSIN® \NANSHSIN®

ik L sk AR
@ ocr 8 o7
12 5 12 5|
L3 N gl L3 s
_ o : R
/'/ g 0 // L5 L6 e
/ — L5 16 / @ m@g
/ = S = = T = 2 | ﬁ@b § / = 2 5= ! = | | ‘ )
= s = S = ! ‘ \ S | I
\\ L o @% ‘ o 7 \\ m @% ©
\ L N\ S
N i\= B S %\ = c2 & ~F <
=T N 2,
D) C6 @ G, 9 4
S 4 & & <,
¢ Wu f 7 18
Y s 00336 19
DIMENSION o3t 3 DIMENSION . o
SINGLE SECTION #sts CHiA DOUBLE SECTION
R~ (8%, B#El i=3~10) o R~F (T, BEEEE i=15~100)
R~ /Dimension  WAE050 WAEO070 WAE090 WAE120 WAE 155 WAE205 WAE235 Rt /Dimension  WAE050 WAEO070 WAE090 WAE120 WAE 155 WAE205 WAE235
D1 44 62 80 108 140 184 210 D1 44 62 80 108 140 184 210
D2 M4*0.7P M5*0.8P M6*1.0P M8*1.25P  M10*1.5P  M12%1.75P  M16*2.0P D2 M4*0.7P M5*0.8P M6*1.0P M8*1.256P  M10*1.5P  M12%1.75P  M16*2.0P
D36 12 16 22 32 40 55 75 D36 12 16 22 32 40 55 75
D4 g6 35 52 68 90 120 160 180 D4 g6 35 52 68 90 120 160 180
D5 15 18 30 40 50 70 85 D5 15 18 30 40 50 70 85
D6 M4*0.7P M5*0.8P M8*1.25P  M12%1.75P  M16%2.0P  M20*2.5P  M20*2.5P D6 M4*0.7P M5*0.8P M8*1.25P  M12%1.75P  M16*2.0P  M20*2.5P  M20*2.5P
D7 50 70 90 120 155 205 235 D7 50 70 90 120 155 205 235
D8 53 64 94 125 150 200 225 D8 53 64 94 125 150 200 225
L1 - - - - - - - L1 - - - - - - -
L2 245 36 46 70 97 100 126 L2 245 36 46 70 97 100 126
L3 4 6.5 8 17 15 15 18 L3 4 6.5 8 17 15 15 18
L4 1 1 1 15 3 3 3 L4 1 1 1 15 3 3 3
L5 14 25 32 40 63 70 90 L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7 L6 2 2 3 5 5 6 7
L7 10 10 12 16 20 22 28 L7 10 10 12 16 20 22 28
L8 32 4.8 7.2 10 12 15 15 L8 32 4.8 7.2 10 12 15 15
L9 10 12.5 19 28 36 42 42 L9 10 12.5 19 28 36 42 42
C1 46 70 90 90 145 145 200 200 200 235 C1 46 70 90 70 90 145 90 145 145 200 200
C2 M4*0.7P M4 M5 M5 M8 M8 MI2  MI2%1.75P  M12%1.75P  M12%1.75P 2 M4*0.7P M4 M5 M4 M5 M8 M5 M8  M8*125P  MI2*1.75P  M12*1.75P
c3 <8 <14 <19 <19 <24 <24 <35  <35/<42 <42 <42/<55 C3 <8 <14 <19 <14<19<24 <19 <24  <24/<28 <35 <42
ca 26 315 41 4 59 60 81 81 114 117 ca 26 315 41 315 41 59 41 60 66 80 114
C5 30 50 70 70 110 110 1143 114.3 114.3 200 C5 30 50 70 50 70 110 70 110 110 114.3 114.3
C6 5 5 5 6 14 14 19 19 24 20 C6 5 5 5 5 6 14 6 14 10 9 24
c7 42 60 80 80 130 130 180 180 180 220 c7 42 60 80 60 80 130 80 130 130 180 180
cs 86 115 128 145 163 1995 2215 279 318 377 cs 107 1415 1545 1625 179 197 214 2445 340 3525 4415
B1h9 4 5 6 10 12 16 20 B1h9 4 5 6 10 12 16 20

H1 135 18 24.5 35 43 59 79.5 H1 135 18 24.5 35 43 59 79.5



WPF SERIES

A TSR R Bz

WPF SERIES

Committed To Building A World-class Transmission Brand

\NANSHSIN®

\NANSHSIN®
Series planetary gearbox
FRHNFTEREE

FEATURES
7= o

FRBRSHLHRA—GREWRT,
BRBA AR
TRRRABREHRM,
ST DR A SR S 6,
i R AR AR TS A EIHROE2,
AR O B R S

#5731 F SN DB BRI,
BB TR

B 5 T A R R T 2t INDICATION FOR MODEL
B\ i = IR FHIEE B K WIEAR,
o SELECTION GENERAL NOTICES
o MMESKT ® JT5EINAD
Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.
Planetary wheel with full needle design,increase the contact M. e e
area to improve the rigidity and output torque. [ w ]—[ PF J— [090]—[010]—[ K ]—[ P2 J—%ifgiﬂ% T = .
, woor ~ AN
The gears are carburized and quenched to the HRC62 with low R K- reference - FU:W 7= R
. ) ; - BERTENNHS R
carbon steel surface for optimum wear and impact toughness. Ratio K-Key AP BRFENF
3 S-JtHh 3 ) 2 ok » <
Gears refer to foreign imported software-assisted design 4 S-Smooth - BATRESHAZRSEMRA
to obtain the best tooth shape to reduce noise. 2 - Type, model and torque
7 — Ratio or output speed
The input terminal is connected to the motor shaft in a double-tight 3 - Working conditions and connection methods
manner to obtain the maximum clamping force and zero 10 - lQ”aTmyg”d ”‘;Fa”e? maczi”e name
. — Input mode and input spee
backlash [P transmission. ke ;(5) — Motor brand model or flange and motor shaft size
Size 25
060 35 BE
080 40 Precision
#7 090 50 e
P2 IR
Model 115 70 Standard backlash
PF 142 100
o PL
Brand

31



WPF SERIES

PLANETARY GEARBOX

® I RMLM BE F Bl /Performance

A AL TH
Specification Unit Stage
1
HE i h%E N
Rated output torque T2n m
2
% B I3k % FL1% Motor shaft size mm 1,2
% K5 i #1 46 /Maximum output torque Nm 1.2
HUE B\ ¥ % /Rated input speed NN rem 1.2
: 1
# B /Backlash arcmin
2
HEE R4 /Torsional rigidity Nm/arcmin 1,2
A YFZ 1571 /Allowable radial force Fzes N 1,2
U5 8 S /Allowable axial force Foas N 1,2
A% & /Lifespan hr 1.2
) 1
& [Efficiency %
2
_ 1
F 8 /Weight kg
2
5 F3 3R /Working temperature T 1.2
B3P % 4% /IP Grade 1.2
S8 /Lubricating
2477 1] /installation direction 1.2
1% 24 (n1=3000rpm, 7 £ £0) dB(A) 1,2

Noise level (n1=3000rpm off load)

32

A TSR R Bz

R L

Ratio

3
4
5
6
7

8
10
12
15
16
20
25
28
30
35
40
50
60
70
80
100
3-100
3-100
3-100
3-10
12-100
3-100
3-100
3-100
3-100
3-10
12-100
3-10
12-100
3-100
3-100

3-100
3-100

WPFO42 WPFO60 WPFO80 WPFO90 WPF115

8
12
16
8
8
5
5
12
16
12
12
16
12
8
16
12
16

5-8

4000
<20
<22

0.7
165
135

035
045

18 40 50 125
36 90 110 230
40 110 125 260
20 40 50 90
20 40 50 90
12 22 32 70
12 22 32 70
36 90 110 230
40 110 125 260
36 90 110 230
40 110 125 260
40 110 125 260
36 90 110 230
18 40 50 125
40 110 125 260
36 90 110 230
40 110 125 260
20 40 50 90
20 40 50 90
12 22 32 70
12 22 32 70

6-14 14-19 14-19 16-24
Z {Z%E 1 H F1 4B /Double rated output torque
4000 3500 3500 3500
<10 <10 <10 <10
<12 <12 <12 <12

18 47 4.85 11
220 400 430 1000
240 420 450 1240

10000

=96

>93
1.1 2.1 44 6.6
14 3 5 82

~10°C~80°C
IP54

& B8 78 B BE /Synthetic lubricating grease
£ Z 77 [ /in any direction
<61 <63 <63 <68

\NANSHSIN®

WPF142
290
460
550
340
340
210
210
460
550
460
550
550
460
290
550
460
550
340
340
210
210

19-35

2500
<10
<12
55
4500
4800

14
17.1

WPF SERIES

i

Committed To Building A World-class Transmission Brand

\NANSHSIN®

0Ll (8 acr
L8 L2
& L5
28 ° o ﬁi T=
. 14
D | 13
®§ « C4
k ¢ \V%; il
oD3gb L7
DIMENSION e
SINGLE SECTION
o R~F (#H%, BWiELi=3~10)

R~} /Dimension WPFO42-L1 WPFOB0-L1 WPFO80-L1 WPF090-L1 WPF115-L1 WPF142-L1
%D1 50 70 100 110 130 185
%D2 45 55 6.5 6.5 85 11
%D3 10 14 20 22 25 40
D4 26 50 80 85 110 130

D5 12 17 25 30 36 55
D6 M4 M5 M6 M6 M10 M12
D7 58 80 120 125 160 230
L1 42 60 90 92 120 176
%12 26 35 40 46 55 87
%13 ) 3 3 5 4 5
L4 295 30 36 36 50 80
%5 16 25 25 32 40 70
L6 25 2.5 5 2 5 5
L7 10 12.5 18 18 23 25
L8 5 8 10 10 14 15
*C1 46 70 90 90 145 200
*C2 M4 M4 M5 M5 M8 M12
*C3 5-8 6-14 14-19 14-19 19-24 24-35
*C4 26 315 41 41 60 83
*C5 30 50 70 70 110 114.3
*C6 5 5 6 5 14 10
c7 42 60 80 80 130 180
cs 86 1185 1465 166 204.5 268.5
BT 3 5 6 6 8 12
%H1 1.2 16 225 245 28 43

33



it LN
0Lt (8 act
‘ L8 L2
- L5
§ © © L;I ———0
L -

S | 6 3

S 2D2 (4

N

o) Y
2D3gb L7
DIMENSION
DOUBLE SECTION
o R~F (W, R i=15~100)

R~t/Dimension WPF042-1.2 WPFO60-2 WPF080-2 WPFO90-.2 WPF115-.2 WPF142-1.2
D1 50 70 100 110 130 185
*D2 45 5.5 6.5 6.5 8.5 11
%D3 10 14 20 22 25 40
¥D4 26 50 80 85 110 130

D5 12 17 25 30 35 55
D6 M4 M5 M6 M6 M10 M12
D7 58 80 120 125 160 230
L1 42 60 %0 92 120 176
%12 26 35 40 46 55 87
%13 2 3 3 5 4 5
L4 225 30 36 36 50 80
%15 16 25 25 32 40 70
L6 25 2.5 5 2 5 5
L7 10 12.5 18 18 23 25
L8 5 8 10 10 14 15
*C1 46 70 90 90 145 200
*C2 M4 M4 M5 M5 M8 M12
*C3 5-8 6-14 14-19 14-19 19-24 24-35
*C4 26 315 41 41 60 83
*Cb 30 50 70 70 110 114.3
*C6 5 5 6 5 14 10
c7 42 60 80 80 130 180
cs 104 136.2 169.6 1905 237 3135
%B1 3 5 6 6 8 12
HH1 11.2 16 225 245 28 43

34

WPF SERIES

A TSR R Bz

\NANSHSIN®

WPL SERIES

WP

Series planetary gearbox

REA1TE RO

FEATURES
= o

TEBRSHHHX A —HRE8EIT,
FRE AR,

TRERBARERIL,
A EMTER IR SRS .

W R A REINR TS 50E X EIHRC62,
AR ISR (00T BE R o T H 1M

W S| B ESM OB IR
IR SR TR IR S,

BN 5 DiAMERER AN E T,

PR S AR Z A FIBHR ST FiE,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

Committed To Building A World-class Transmission Brand

\NANSHSIN®

35



WPL SERIES

INDICATION FOR MODEL

SELECTION
o YIS RR

A TSR R Bz

[wW Jmm| pL )= [090 ) =010 |um| K |um[ P2 |mmizzs

EX]

Model
PF

b b PL

Brand

36

A&
Size
060
080
090
120
160

R EE
Ratio

K-42
K-Key
S-HHh
S-Smooth
B
Precision
P2 R R
Standard backlash

Motor
reference

\NANSHSIN®

GENERAL NOTICES

1T 527 A

ME, BS. HiE

TR EE S 0 R
TREEEATR
BERREOVME R
AAFRFIND ERE

DA BB SFERZRDEAMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

WPL SER|ES Committed To Building A World-class Transmission Brand \NANSHSIN®

PLANETARY GEARBOX

TR BE R R /Performance

Mg
Specification

HE  H H%E
Rated output torque T2

% B 53K %h FL#Z Motor shaft size
£ K% i # 8 /Maximum output torque

HUE 1\ F i /Rated input speed NN
1 Bi/Backlash

H R4 Torsional rigidity
42 B 71 /Allowable radial force Fose
Y4 [5 71/Allowable axial force Fase

fE & & ILifespan

& [Efficiency

EHE /Weight

f& AR /Working temperature
B33P &R /1P Grade
J8 8 /Lubricating

& 475 1) /Installation direction

1% {& (n1=3000rpm, 7 1 #k)
Noise level (n1=3000rpmoff load)

&y

Unit

Nm

mm
Nm

rom
arcmin

Nm/arcmin
N
N
hr

%

kg

©

dB(A)

BH

Stage

1.2
1.2
1.2

1,2
1,2
1,2
1,2

1,2
1,2

1,2
1,2

L EE
Ratio

3
4
5
6
7

8
10
12
15
16
20
25
28
30
35
40
50
60
70
80
100
3-100
3-100
3-100
3-10
12-100
3-100
3-100
3-100
3-100
3-10
12-100
3-10
12-100
3-100
3-100

3-100
3-100

WPLO42 WPLO60 WPLOSO WPLO90 WPL120  WPL160

8
12
16

8

8

5

5
12
16
12
12
16
12

8
16
12
16

5-8

4000

<20
<22
0.7

165
135

035
045

18 40 50
36 90 110
40 110 125
20 40 50
20 40 50
12 22 32
12 22 32
36 90 110
40 110 125
36 90 110
40 110 125
40 110 125
36 90 110
18 40 50
40 110 125
36 90 110
40 110 125
20 40 50
20 40 50
12 22 32
12 22 32

6-14 14-19 14-19

125
230
260

920
20
70
70
230
260
230
260
260
230
125
260
230
260
90
20
70
70
16-24

Z 5% E ¥ ) 51 %B /Double rated output torque

4000 3500 3500

<10 <10 <10
<12 <12 <12
1.8 4.7 4.85
220 400 430
240 420 450
10000
=96
=93
1.1 2.1 4.4
1.4 3 B
-10°C~80°C
P54

3500
<10
<12
11
1000
1240

6.6
8.2

& B 78 i B /Synthetic lubricating grease

£ & 77 [0 /in any direction
<61 <63 <63

<68

290
460
560
340
340
210
210
460
550
460
5560
5560
460
290
550
460
5560
340
340
210
210
19-35

2500
<10
<12
55
4500
4800

26.5
29.6

37



38

WPL SERIES A Tt R — T B w5 S e \NANSHSIN® 11 R T Committed To Building A World-class Transmission Brand \NANSHSIN®
Bt #A% i N
(8 acr 8 acr
L2 1.2
L4 g ﬁ 14
1 L5 L6 @\ ® — 15
8 ° o L;I T E" Iy @ 83 ) o T —
il s % dl )]
© ©
L3 =4 =4 L3
C6 (2 ’op& 06 o
4 &
A& ¢ - &)
¥ N i W%
@D3gb L7 2D3g6 L7

DIMENSION DIMENSION

SINGLE SECTION DOUBLE SECTION

R~T (8%, F#E i=3~10) o R~ (WA, RELE i=15~100) )

Dimension(single stage,Ratio i=3~10) Dimension(double stage,Ratio i=15~100)

R ~F /Dimension WPLO42-L1 WPL060-L1  WPL080-L1 ~ WPL090-L1  WPL120-L1 WPL160-L1 R~F /Dimension WPLO42-L1 WPL060-L2 ~ WPL080-L2 ~ WPL090-L2 ~ WPL120-L2  WPL160-L2
D1 34 52 70 80 100 145 D1 34 52 70 80 100 145
%D2 M4 M5 M6 M6 M10 M12 %D2 M4 M5 M6 M6 M10 M12
%D3 10 14 20 22 25 40 *D3 10 14 20 22 25 40
D4 26 40 60 68 80 130 %D4 26 40 60 68 80 130

D5 12 17 25 30 35 55 D5 12 17 25 30 35 55
D6 M4 M5 M6 M6 M10 M12 D6 M4 M5 M6 M6 M10 M12
D7 42 60 80 90 115 162 D7 42 60 80 90 115 162
L1 - - - - - - L1 - - - - - -
%12 26 35 40 46 55 87 ¥L2 26 35 40 46 55 87
%13 2 3 3 5 4 5 *L3 2 3 3 5 4 5
L4 225 30 36 36 50 80 L4 22.5 30 36 36 50 80
L5 16 25 25 32 40 70 XL5 16 25 25 32 40 70
L6 25 2.5 5 2 5 5 L6 2.5 2.5 5 2 5 5
L7 10 12.5 18 18 23 25 L7 10 12.5 18 18 23 25
L8 - - - - - - L8 - - - - - -
*C1 46 70 90 20 145 200 *C1 46 70 90 90 145 200
*C2 M4 M4 M5 M5 M8 M12 *C2 M4 M4 M5 M5 M8 M12
*C3 5-8 6-14 14-19 14-19 19-24 24-35 *C3 5-8 6-14 14-19 14-19 19-24 24-35
*C4 26 315 41 41 60 83 *C4 26 315 41 41 60 83
*Ch 30 50 70 70 110 114.3 *C5 30 50 70 70 110 1143
*C6 5 5 6 5 14 10 *C6 5 5 6 5 14 10
C7 42 60 80 80 130 180 C7 42 60 80 80 130 180
cs 86 1185 146.5 166 2045 268.5 cs 104 136.2 169.6 190.5 237 313.5
%B1 3 5 6 6 8 12 %B1 3 5 6 6 8 12
H1 11.2 16 225 245 28 43 X H1 11.2 16 22.5 245 28 43

39



40

WABRSERIES

A TSR R Bz

Series planetary gearbox

WABR ==

FEATURES
= ot

TEBRSHBHRXA—AREWRIT, HEREAOAERE,
TERRAHEREIRT, MinEMER RS S HRESH B EE,
HHRRBIRGINRESHOR K EIHRCE2, WIRSHENM B K HHM,
5| BESNE DRAHBNIRIT, MIRERENEFERIES,
BG5S DIAMEERARNEE AR, MRRERHIE
ENANZERNNN %S
RAWLSHER IR, SIFRHAES. LE PERSE30% UL,
BFRMANFERE, LEECERRMASSEML,
SOURNINSHEE, SREMART, EMEimREy—, TEEGK,

REPERE, ERESHREMTS=H
HEREES, MHRSBENEEER,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.

\NANSHSIN®

WABRS ER| ES Committed To Building A World-class Transmission Brand \NANSHSIN®

INDICATION FOR MODEL

SELECTION
o MAHESER

()= (58 = (o50) = () = (k)= (2] = 2%

I Motor
R H K-gt reference
Ratio K-Key
3 S-JHHh
4 S-Smooth
5
6
7
8
10
15
A& 20
Size 25
042 35 BE
060 40 Precision
Byl 090 50 PSSR
Model i:i 60 Precision backlash
ABR 70 ol IS B
o hE 180 80 Stai%lzjr—d%aﬁcllz?ash
Brand 100
200

GENERAL NOTICES

LRI

- MBS HE

R L S D e B R
ITREEZETR
HERZEOIME R

AN FRFINN &

DB SFEER DR~

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

41



WABRSFERIES BESER S S s Lkt \NANSHSIN® VAN r i EIRdIEeY Committed To Building A World-class Transmission Brand \NANSHSIN®
M= i - e = . . .
o RV 5NIR 2 /Rotational inertia
soo HE B i AEL  WABR042 WABRO60 WABR090 WABR115 WABR142 WABR180
pecification Unit Stage Ratio
3~10 0.09 0.35 2.25 6.84 23.4 68.9
PL NET RY GEARBOX 1 12. 14  0.035 0.07 1.87 6.25 21.8 65.6
A A ) ﬁm’?%ﬂj ; kg.om? 20 0.03 0.07 1.87 6.25 21.8 65.6
= VH QB >Ry otational inertia
® R IE BE Bl /Performance 15 0.09 0.35 2:25 684 234 68.9
q e - — 2 25~100  0.09 0.09 0.35 2.25 6.84 23.4
coo HE L bu L \wABR042 WABRO60 WABROS0 WABR115 WABR142 WABR180
pEEitEiEn i age iy 120~200 0.007 0.01 0.31 1.87 6.25 21.8
3 - 36 90 195 342 588
4 - 48 120 260 520 1040 SR (INPUT) T
5 - 60 150 325 650 1200 o - 1 m
18] 24 &
6 - 55 150 310 600 1100 ‘ = AN
0 ==
7 - 50 140 300 550 1100 W ¥ -\
! _ () 5e =
8 50 140 290 542 1050 ) ]
o = 5
10 - 60 160 330 650 1200 »
2 & U s ﬂ m il 1
12 - 55 150 310 600 1100 g Ll il Wi N
14 - 50 140 300 550 1100 D I M E N S I O N gEAS  MEAX 4 | Pl el
Shafttype S Shafttype K o
20 - 40 100 230 450 900 SlNGLE SECT'ON ik b = -
15 - 55 130 208 342 588
25 - 60 150 325 650 1200 o R~F (BT, WEKEE3~20)
ﬁgmﬁﬁ;g_r o 30 - 55 150 310 600 1100
Rated output torque | 2N
35 - 50 140 300 550 1100
J.~F /Dimension WABR042 WABR060 WABR090 WABR115 WABR142 WABR180
40 - 50 140 290 542 1050 o1 ] 20 100 130 165 i
50 - 60 160 330 650 1200
D2 - 5.5 6.6 9 11 -
60 - 55 150 310 600 1100 .
2 D3j6 - 16 22 32 40 -
70 - 50 140 300 550 1100
D4g6 = 50 80 110 130 =
80 - 50 140 290 542 1050
D5 - 17.5 30 40 495 -
100 - 60 160 330 650 1200
D6 - M5 M8 M12 M16 =
120 - 55 150 310 600 1100
140 - 50 140 300 550 1100 b7 ) 80 116 152 185 )
160 - 45 120 260 500 1000 S ) &0 2Lt 115 [ )
200 - 40 100 230 450 900 L2 ) 37 48 65 97 B
% {5 #0 4E /Emergency stop torque ToNOT Nm 1,2 3~200 = &% E %y 1 1 4B /Triple rated output torque L3 - 7 10 12 15 -
R N\ $3E/Rated input speed NN rpm 1,2 3~200 5000 5000 4000 4000 3000 3000 L4 - 1.5 1.5 2 3 -
£ K# A B3 Maximum utput speed N1e rpm 1,2 3~200 10000 10000 8000 8000 6000 6000 L5 - 25 32 40 63 -
B Prosicion backiach P , 1 3~20 - <8 <8 <8 <8 <8 L6 - 2 8 5 5 -
2 5 /Precision backlas| arcmin
mer 2 16~200 - <10 <10 <10 <10 <10 L7 - 6 8 10 12 -
1 3~20 - <10 <10 <10 <10 <10 L8 - 149.5 203 266.5 359 -
#R/E 75 B /Standard backlash P2* arcmin
2 15~200 - <13 <13 <13 <13 <13 L9 - 4 6 10 16 =
R %R M Torsional rigidity Nm/arcmin 1,2 3~200 - 7 14 25 50 145 L10 - 13 20 28 36 -
BYFZ 71 /Allowable radial force F2as N 1,2 3~200 780 1530 3250 6700 9400 14500 C1 = 70 90 145 200 =
21 %h 5] 71/Allowable axial force F2as N 1.2 3~200 390 765 1625 3350 4700 7250 C2 - M4 M5 M8 M12 -
%S ILifespan hr 1,2 3~200 20000 * C3G6 = 14 19 24 35 -
1 3~20 95 % } _
K [Efficiency % ° C4 32.5 54 81 81
2 25~200 92% C5G6 - 50 70 110 114.3 -
1 3~20 - 2.1 6.4 13 24.5 51 B _
5 MWeight kg C6 3.5 6 14 19
2 25~200 - 1.5 7.8 14.2 27.5 54 c7 _ 60 30 130 180 _
£ B8 /Working temperature °C 1,2 3~200 (=10° C +90° C) cs ~ 24 9 29 5 452 57 ~
788 /Lubricating & Al 7B BE /Synthetic lubricating grease co B 100 145 189 5 2465 ~
B33 E 4R /1P Grade 1.2 3~200 IP65 c10 B 95 14.5 27 32 _
2 4% 718 /Installation direction 1,2 3~200 1E & 77 @ /In any direction B1 B 5 6 10 12 B
No =30, ) dB(A) 1,2 3~200 - <63 <65 <68 <70 <72 1 i 18 o 35 43 i

(# “¥" WIEESS TH2IHIA/ Need confirm with our engineer for those precision data with *

42



A TSR R Bz B TS R — R o B 5

WABRSERIES

WADRSERIES

\NANSHSIN® \NANSHSIN®

4L

NI (INPUT) $i i3 ouTpuT)
al] " out .
0\ .
. N Series planetary gearbox
il ] i ] 4
] I | 4 s
7%@ | RI TR IRE
) g = _ _ ’
A\l 45° : _ = o
%; = - N
& u | m 202
WEAS AR
Shafttype S Shaft type K L5 @ =
BLh9 16 f
: °|® FEATURES
= (5
Z % L9 ]
DIMENSION =~~~ e
DOUBLE SEC'HON TEBRSHYMXA—ARNEWIRIT, TREAMAER,
_J_ e \UZ% t . ) ) —t | TERXAHRINT, BinEmERUIRsSEMR NS H HAE,
N /0 = i ) B wi . e N
RF (W, AR i=16~200) & SR R AR RE ISR KEIHRC2, ISR AT Roh 31,
S| BESME DR EHBNIRTT, DURGHREN SR ERES,
R =T /Dimension WABRO042 WABRO60 WABRO090 WABR115 WABR142 WABR180 NS DA R R AIGAEE SR, MRS A%
D1 - 70 100 130 165 -
ENRMBERNAENZE,
D2 = BB 6.6 9 11 = _ A s n N P
D316 - - 39 20 RAWELSERIRIT, SIFRHAES. LEPEES30% ML,
j - -
Dagt ) 50 80 10 130 i EEFRAEE, WECERBABREM L,
D5 - 17.5 30 40 49.5 - R PER NS EE, SRERMRT, EMEEATNY—, BEEFTK,
D6 B M5 M8 M12 M16 - REPERNE, EREZHREDTE=E
D7 - 80 116 152 185 - gH RS, DBHRSBENZEETR,
L1 = 60 90 115 142 =
L2 - 37 48 65 97 - Planetary boom and output shaft are intergrated
L3 _ 7 10 12 15 _ structure designed to ensure maximum torsional rigidity.
L4 - 1.5 1.5 2 3 - Planetary wheel with full needle design,increase the contact
L5 _ 25 32 40 63 B area to improve the rigidity and output torque.
L6 - 2 3 5 5 - The gears are carburized and quenched to the HRC62 with low carbon
L7 B 6 8 10 12 ~ steel surface for optimum wear and impact toughness.
L8 - 181.5 240.5 290 420 - Gears refer to foreign imported software-assisted design to
L9 B 4 6 10 16 ~ obtain the best tooth shape to reduce noise.
L10 . 13 20 28 36 - The input terminal is connected to the motor shaft in a double-tight manner
1 = - = p— to obtain the maximum clamping force and zero backlash power transmission.
c2 _ M4 M5 M8 M12 _ Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.
C3G6 = 14 19 24 85 =
B B High tolerance input speed, more than 8 times
c4 325 54 54 81 higher than straight bevel gear input.
C5G6 = 50 70 110 114.3 =
C6 B 35 15 19 ~ The meshing tooth imprint of spiral bevel gear has been optimized
' 6 ’ by optimum design, and the contact tooth surface load is uniform, and long running life.
C7 - 60 80 130 180 -
Cochlear bevel gears are meshed by optimum motion error analysis and
cs - 24.2 29.5 43 57 - strict process control to ensure high precision running back clearance.
C9 = 100 145 170.5 246.5 =
C10 - 9.5 14.5 27 32 -
B1 = 5 6 10 12 =
H1 - 18 24.5 35 43 -

45



48

WADRSERIES

¢C1

DIMENSION

SINGLE SECTION

R~F (87,

R =~f/Dimension

D1n7
D2
D3n7
D4ny
D5
D6
D7
D8H7
D9
D10
L1
L2
L3
L4
L5
L6
L8
L9
L10
C1
C2
C3as
C4
Cbhas
Cé
C7
C8
C9
c10
C11

Committed To Building A World-class Transmission Brand \NANSHSIN®
L8
1 \3(INPUT) Ui i 3% (ouTPUT)
o U .
— Al) %Eg \mno
\ 30y 1] n_/ 2 N 05
] \ \
) EHEEH ; ’
E \ 7 L
] . \ =
) T = Ny et
. i i
T s PN g,.,]
e
o i
0566
AR =4 ~20)
WADRO064 WADRO090 WADR110 WADR140
20 31.6 40 50
31.6 50 63 80
40 63 80 100
64 90 110 140
79 109 135 168
7 x M5 7 xM6 11xM6 11xM8
86 118 145 179
5 6 6 8
63.2 89.2 109.2 139.2
8x4.5 8x5.5 8x5.5 12x6.6
8 12 12 12
9 12 15 17
3 6 6 6
19.56 30 29 38
7 10 10 14.6
4 7 8 10
114.5 158 190 248
6 7 7 7
0.5 1 1 1
70 90 145 200
4x M4 4xMb 4x M8 4xM12
=14 =19/=24 =24 =35/=42
35 54 81 81
50 70 110 114.3
3.5 6 14 19
60 80 130 180
24.2 29.5 45 57
104.5 147 194.5 250.5
9.5 14.5 27 32
70 100 132 1756.5

WADRSERIES

)\ SR(INPUT)

acr

B TS R — R o B 5

L8

14

L6,

L§

144

~~——T
o
pdih?
)
D317
D17

[}

DIMENSION

DOUBLE SECTION
IR EE i=25~200)

R~ (WF5,

R~ /Dimension

D1H7
D2
D3h7
D4n7
D5
D6
D7
D8H7
D9
D10
L1
L2
L3
L4
L5
L6
L8
L9
L10
C1
Cc2
C3G6
C4
C5G6
C6
Cc7
C8
C9
c10
cn

WADRO064

20
31.5

40

64

79

7xMb
86
5

63.2
8x4.5

4 x M4
=14
356
50
3.6
60
24.2
104.5
9.5
70

1©-

010

WADRO090

31.5
50
63
90

109
7 x M6
118

89.2
8xb5.5
12
12

30
10

195.5
7
1
90

4 x M5

[0

=19/=24

54
70
6

80
29.5
147
14.5
100

60366
0566

WADR110

40
63
80
110
135
11x M6
145

109.2

8x5.5
12
15

29
10

219.5

145
4x M8
=24
67

110
1.5
130

42.5

160

27

113

608
V19

\NANSHSIN®

1 3% (OUTPUT)

o110
s

Ny

s ~N 35

/)

— 0 —

S/‘

yi2

WADR140
50
80
100
140
168
11xM8
179

139.2
12x6.6
12
17
6
38
14.6
10
325.5
7
1
200
4xM12
=35/=42
81
114.3
19
180
57
250.5
32
175.5

49



46

WADRS ER| ES Committed To Building A World-class Transmission Brand \NANSHSIN®

INDICATION FOR MODEL

SELECTION
o YIS RR

[W )mm[ADR] == | 090 ) mm | 010 |mm| P2 |mm x5

ot hE
Brand

EX]l
Model
ADR
VRBR
ABR
AER

A
Size
064
090
110
140

| Motor

L& EE reference
Ratio
4
5
7
10
14
20
25
35
40
50
70
100
140
200

BE
Precision
P1E
Precision backlash
P2 RS BR
Standard backlash

GENERAL NOTICES

1T 527 Al

- HF, BS HE

- RIE LS N R

- IRpEERFR

- BERRENOUMER

- ANAFTROANHER

- DR BB SFEZRD AR T

— Type, model and torque

— Ratio or output speed

— Working conditions and connection methods

— Quantity and installed machine name

— Input mode and input speed

— Motor brand model or flange and motor shaft size

WADRSERIES

PLANETARY GEARBOX

® JF IRV BE R B /Performance

A& v
Specification Unit
HEE L NE Nm
Rated output torqueTZN
£ {&$1 4B /Emergency stop torque TanOT Nm
FE $ N\ F 3/Rated input speed NN rom
FARBAEEE Maximum iutput speed N18 rom
#5 %15 B /Precision backlash P1* arcmin
£ % B# /Standard backlash P2* arcmin
A # RN P Torsional rigidity Nm/arcmin
XL NE N
Maximum bending torque M2KB m
25 ) 51/Allowable axial force Fzas N
£ 3% @ ILifespan hr
2K [Efficiency %
H & /Weight kg
£ FARE /Working temperature °C

JE 78 /Lubricating
B3P &% /IP Grade

22 % 77 18] /Installation direction

1 218 (n1=3000rpm, T F1 %)
Noise level (n1=3000rpm off load) dB(A)

(# “¥” WIEERS T2HIA/ Need confirm with our engineer for those precision data with *)

o JFIRHNLE TN = /Rotational inertia

g s
Specification Unit
NS e

Rotational inertia J1

B THTE R — R o B 5 i

iy
izl
Stage

1,2
1.2
1,2

1.2
1.2
1.2
1.2

1,2

1,2
1.2
1.2

B

Stage

\NANSHSIN®

HMEL \WADR064 WADR090 WADR110 WADR140

4 48 130 270 560
B 60 160 330 650
6 50 140 300 550
7 50 140 300 550
8 48 130 270 560
10 60 160 330 650
14 50 140 300 550
20 40 100 230 450
25 60 160 330 650
35 50 140 300 550
40 48 130 270 560
50 60 160 330 650
70 50 140 300 550
100 60 160 330 650
140 50 140 300 550
200 40 100 230 450
4~200 = Z 50 E ¥ F1 %8 MTriple rated output torque

4~200 5000 4000 4000 3000
4~200 10000 8000 8000 6000

4~20 <8 <8 <8 <8
25~200 <10 <10 <10 <10
4~20 <10 <10 <10 <10
25~200 <13 <13 <13 <13
4~200 13 31 82 151
4~200 125 235 430 1300
4~200 1050 2850 2990 10590
4~200 20000*
4~20 =95%
25~200 =92%
4~20 1.9 4.5 9.8 20.1
25~200 2.1 5.9 10.5 21.9
4~200 (-10° C +90° C)

& Ak 38 BE /Synthetic lubricating grease
4~200 IP65
4~200 £ Z 77 [ /In any direction
4~200 <63 <65 <68 <70

AR WADR064 WADR0O90 WADR110 WADR140

4~10 0.35 2.25 6.84 23.4
14 0.07 1.87 6.25 21.8
20 0.07 1.87 6.25 21.8

25~100 0.09 0.35 2.25 6.84
140~200 - 0.31 1.87 6.25

47



VAVARI Y2 ESI=RIES] Committed To Building A World-class Transmission Brand WVRBR SERIES

BAFITEH R RN P EE s

\NANSHSIN® \NANSHSIN®

Series planetary gearbox
RN FTEREE

FEATURES
7= an i

FEERSHLBXA—GREWRT, BEEAOHERIM,
TERRAHRIRT, BinEmmRIRSEMR NS H HAE,
W R BRBRMNRE S50 K EIHRC62, WMIKBRENTER T &4,
WS AESNE OB HENIETT, DIKER N R
WG S DIAMEERARAME AR, PIRREAHIX
ENFBEREAENIEE,

RAWELERIRIT, SIFHHEAES. LEHEERS30% M,
SRTFRMAEE, LESCERBASSEML,

RGP UERHNINS N, SREMMARTT, EhsmRiiy—
REPARRME, ERESHREDTSTE
wEliREd, NHRSEENZEEER,

, BEFHK,

INDICATION FOR MODEL

SELECTION
o MAHSKT °

GENERAL NOTICES

LRI

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

- HF, BS HE

Gears refer to foreign imported software-assisted design to

() = o) = (2%0) = (o10) = (K= (2] = 25

— ORI LS ) R
obtain the best tooth shape to reduce noise. | Motor II“R EEBR
O H K-t reference - LTRRZERETS
B - s = NN .
The input terminal is connected to the motor shaft in a double-tight manner Ratio K-Key - BERTENVME R
to obtain the maximum clamping force and zero backlash power transmission. 3 8.3k - ANAFRFAS R
°s - DA BB SYEZIRSAMRT
Adopt spiral bevel gear design, allow high output torque, 4 S-Smooth
more than 30% higher than straight bevel gear. 2 - Type, model and torque
— Ratio or output speed
i i i 7
H,Igh t?lerance Ihpm Spsiee) molre Lt Eies 8 Working conditions and connection methods
Aligner e SUEreli eve] gRer ek 10 Quantity and installed machine name
The meshing tooth imprint of spiral bevel gear has been optimized 12 Input mode and |nput?peed ftsi
; : . X : A 14 Motor brand model or flange and motor shaft size
by optimum design, and the contact tooth surface load is uniform, and long running life. si
ize 15
Cochlear bevel gears are meshed by optimum motion error analysis and 042 20 *%_F’?f'
strict process control to ensure high precision running back clearance. 060 25 Precision
EX] 0%0 ... — v e s
Model 115 P21 11
ode 142 200 Standard backlash
ADR
o hE VRBR 180
Brand ABR
AER

51



B TS R — R o B 5

RVELTRRRIRRY ..o To g Aviori-iass Tansmission5rans———— \NRNSHSIN® | WVRBR 5£RIES

\NANSHSIN®

® R4 BE B #l/Performance H \3% (INPUT) 3 41 (0UTPUT)
Sps}:%itgation %r{}?‘- ;—F{a%e ;)ag;ﬁ“lét WVRBR042 WVRBR060 WVRBR090 WVRBR115 WVRBR140 WVRBR180 0t 7 = aL3
3 - 36 90 195 342 588 “f: _ Ll s ¢D§
4 - 48 120 260 520 1040 < —— O — 9
5 - 60 150 325 650 1200 L3 \ m\
6 - 55 150 310 600 1100 ( 54 4 f= = §\
: 7 - 50 140 300 550 1100 = | \ @
8 = 50 140 542 1050 I =
10 - 60 160 330 650 1200 v 0 ] 1 1 M N_0M
12 - 55 150 310 600 1100 b/ T s ! I i
14 - 50 140 300 550 1100 _ A s
20 - 40 100 230 450 900 5 - ~ 11 g
15 - 55 130 208 342 588 s = bouct
25 - 60 150 325 650 1200 0o et
T N 30 - 55 150 310 600 1100
Rated output torque T2n 35 - 50 140 300 550 1100 D I M E N S I O N
40 - 50 140 290 542 1050
50 - 60 160 330 650 1200 DOUBLE SECTION
60 - b5 150 310 600 1100
) 70 - 50 140 300 550 1100 o R~ (B "—|'—'j, JEOE b |:3~20)
80 - 50 140 290 542 1050 . . \ .
r— } 60 160 330 =0 (a0 Dimension(single stage,Ratio i=3~20)
120 - b5 150 310 600 1100
140 _ 50 140 300 550 1100 Rt /Dimension WVRBR042 WVRBR060 WVRBR090 WVRBR115 WVRBR140 WVRBR180
160 - 45 120 260 500 1000 D1 - M5 M8 M12 M16 -
200 = 40 100 230 450 900 D2j6 - 16 22 32 40 -
2124 %E [Emergency stop torqueTanoT Nm 1,2 3~200 = %5 E iy B F7 %6 Triple rated output torque D345 ~ 50 30 110 130 _
HUE 1 \ 3% /Rated input speed NN rom 1.2 3~200 5000 5000 4000 4000 3000 3000 D4 _ 70 100 130 165 =
AN R /Maximum iutput speedn1g rom 1.2 3~200 10000 10000 8000 8000 6000 6000
#RE L BR /Standard backlash P2* arcmin ! 3~20 ) =1l =10 =10 =il <10 oo ] - ¢5'5 " ¢6.6 " 4)9 - ¢11 ]
2 15~200 - <13 <13 <13 <13 <13 D6 = 80 116 152 185 -
H ¥ KM /Torsional rigidity Nm/arcmin 1.2 3~200 = 7 14 25 50 145 L1 - 7 10 7 13 -
A YFZ 15 51 /Allowable radial force Fzes N 1.2 3~200 780 1530 3250 6700 9400 14500 L2 - 37 48 60 95 =
B4 11/Allowable axial force Foas N 1,2 3~200 390 765 1625 3350 4700 7250 L3 B 60 90 115 140 _
fE % & /Lifespan hr 1,2 3~200 20000 * La B 149 5 203 266.5 359 _
3R [Efficiency % ! 3~20 95% - . - -
2 25-200 92% L5 28.5 36.5 51 79
E8 Weight kg 1 3~20 - 2.1 6.4 13 24.5 51 L6 - 6 8 10 12 =
2 25~200 - 1.5 7.8 14.2 27.5 54 L7 - 3 3 5 5 -
f# AR & /Working temperature C 1,2 3~200 (-10° C +90° C) L8 = 25.3 32 40 63 -
398 /Lubricating & A7 7B BE /Synthetic lubricating grease L9 - 4 6 10 16 -
BA#P % R /IP Grade 1,2 3~200 IP65
2% 77 [t /Installation direction 1,2 3~200 1F & 77 [@ /in any direction L10 ) 15 20 23 519 )
JAEEM o ER ) dB(A 12 3-200 - <63 <65 <68 <70 <72 cr ] 60 80 150 180 ]
(% “* 49IE M5 TRIFHIA/ Need confirm with our engineer for those precision data with *) c2 - 70 90 145 200 =
C3 - 4x M4 4xMb 4x M8 4xM12 -
NN — Cdas - 14 19 24 35 -
o JHIRAVLEETNIR F /Rotational inertia Ches - 50 70 110 114.3 -
Spe%jgiiﬁ:alion %J% gfge }E:A;?“Et WVRBR042 WVRBRO60 WVRBR0O90 WVRBR115 WVRBR140 WVRBR180 C6 - 3.5 6 14 19 -
3~10 0.09 0.35 2.25 6.84 23.4 68.9 C7 - 35 54 81 81 -
1 12~14 0.035 0.07 1.87 6.25 21.8 65.6 cs - 104.5 147 194.5 250.5 _
o S 20 003 007 187 625 218 656 9 _ 4.2 29 5 T 57 _
Rotational inertia J1 15 0.09 0.35 2.25 6.84 23.4 68.9 c10 B 95 145 27 32 B
2 25~100 0.09 0.09 0.35 2.25 6.84 23.4 = =
120~200 0.007 0.01 031 187 625 21.8 B - 5 6 10 12 -
H1 = 18 24.5 35 43 -

52



VAVARY 12 &S SRSS] Committed To Building A World-class Transmission Brand \NANSHSIN® WA ERSERIE S BESGEREE: ket

\NANSHSIN®

SR (INPUT) Y & 3R(OUTPUT)
450/ECI b o Qw3 Series planetary gearbox
PO . - AT A
& LS
(X?/ §[ g‘\ 1T \
L /{v 4 M
17 18
| :

L6 |

S —
@03

(8

Mﬁi 94
I

2 I el FEATURES
1 = < 0 C4G0 F 15:11:1':%){3\—\
$C366

D I M E N S I O N FEBRSHEBR ARG, BEBAGRBIIN,
FRAR ARSI, 205 TR U A 40 R 4 55 4,
DOUBLE SECTION R A ER R EATRENEIHRCE2, IR 0T 5 B & 471,
o R~F (W, FEL i=15~200) 73 FESNE DRAERBNIT, DR R T RS,
AR S DAREERAIARESR, MHREALR
ENREER G 52,

Dimension(double stage,Ratio i=15~200)

Rt /Dimension WVRBR042 WVRBR060 WVRBR090 WVRBR115 WVRBR140 WVRBR180 FRIREOCERIRT, REHEASES. HE SERE30% M L,

b1 ; Ms M8 M12 M16 - BRVEARE, HESERHABLELL,

D2 - 16 22 32 40 =

D3 _ 50 80 110 130 ) WECERNEAED, SRERKIIT, BRETARY—, SRE6K,
D4 = 70 100 130 165 = REPERUES, ERESHREDTSTE

D5 - 4x $5.5 4x $6.6 4x 9 4% ¢ 11 - HHIRRES, WBRSEENEETE,

D6 - 80 116 152 185 -

L1 - 7 10 7 13 - Planetary boom and output shaft are intergrated

L2 _ 37 48 60 95 _ structure designed to ensure maximum torsional rigidity.

L3 - 60 90 115 140 - Planetary wheel with full needle design,increase the contact

L4 - 181.5 240.5 290 431 - area to improve the rigidity and output torque.

L5 - 28.5 36.5 51 79 - The gears are carburized and quenched to the HRC62 with low carbon

L6 = 6 8 10 12 = steel surface for optimum wear and impact toughness.

L7 - 3 3 5 5 - Gears refer to foreign imported software-assisted design to

L8 = 25.3 32 40 63 - obtain the best tooth shape to reduce noise.

L9 - 4 6 10 16 N The input terminal is connected to the motor shaft in a double-tight manner
L10 - 13 20 28 36 - to obtain the maximum clamping force and zero backlash power transmission.
C1 - 60 80 130 180 - Adopt spiral bevel gear design, allow high output torque,

C2 - 70 90 145 200 = more than 30% higher than straight bevel gear.

c3 - 4xM4 4xM5 4xM8 4xM12 - High tolerance input speed, more than 8 times
Cdce - 14 19 24 35 = higher than straight bevel gear input.
Cbas - 50 70 110 114.3 - The meshing tooth imprint of spiral bevel gear has been optimized

C6 - 3.5 6 11.5 19 = by optimum design, and the contact tooth surface load is uniform, and long running life.
c7 B 35 54 67 81 B Cochlear bevel gears are meshed by optimum motion error analysis and

C8 - 104.5 147 175.5 250.5 - strict process control to ensure high precision running back clearance.

C9 - 24.2 29.5 42.5 57 -

C10 - 9.5 14.5 27 32 =

B1 - 5 6 10 12 -

H1 - 18 24.5 B85 43 =

54



WAERS ER| ES Committed To Building A World-class Transmission Brand \NANSHSIN®

INDICATION FOR MODEL

SELECTION
o HIPE SRR

(W )mm[AeR | mm|090 | mm (010 |mm | K |um P2 |mmmismis

&t h
Brand

56

Bl
Model
ADR
VRBR
ABR
AER

A
Size
050
070
090
120
155
205

R e
Ratio

K-
K-Key

S-JtH
S-Smooth

Precision backlash

Standard backlash

Motor
reference

GENERAL NOTICES

1T 5270 A0

- F. BS i

— R HE B D g
- IRREEAR

- BERREONHSE R
- NN FRFANEE

- DR BB SFREIRGIAMR T

- Type, model and torque
— Ratio or output speed

— Working conditions and connection methods

— Quantity and installed machine name
— Input mode and input speed

— Motor brand model or flange and motor shaft size

WAERSERIES

® JF RN BE B B} /Performance

m
Specification

HE S 56
Rated output torque T 2N

2123 4B /Emergency stop torqueTanoT
HUE 51\ % /Rated input speed NN
& AH A\ % Maximum iutput speed N18

5 %25 B /Precision backlash PT*

R A7 B4R /Standard backlash P2*

4R P4 /Torsional rigidity
ZIF42 B 71 /Allowable radial force F2se
2 VR4 [ J1/Allowable axial force Faas
fE A% & /Lifespan

K [Efficiency

EE /Weight

& BI85 /Working temperature
JE 8 /Lubricating
B33P %4 /IP Grade

%% 77 18] /Installation direction
1% 218 (n1=3000, 7 $1 %)
Noise level (n1=3000, off load)

(# “x” Q¥EEB 5 TRIFHIL/ Need confirm with our engineer for those precision data with *

o JFIE % 5% = /Rotational inertia

M
Specification

iR g

Rotational inertia J1

Eans

Unit

Nm
rom
rom

arcmin

arcmin

Nm/arcmin
N
N
hr

%

kg
°C

dB(A)

LA

Unit

kg.cm?

B TS R — R o B 5

R
el
Stage

1,2
1,2

N = N — 3

1.2
1.2
1.2
1.2

N = N —

1,2

1,2
1,2
1,2

Rk

Stage

R E
R

atio

80
100
120
140
160
200

3~200
3~200
3~200
3~20
16~200
3~20
156~200
3~200
3~200
3~200
3~200
3~20
25~200
3~20
25~200
3~200

3~200
3~200
3~200

TR EE

Ratio

3~10

WAER050 WAER070 WAER090 WAER120 WAER155 WAER205

5000
10000

780
390

WAER050 WAER070 WAERO90 WAER120 WAER155 WAER205

0.09

12, 14 0.035

20
1

0.03
0.09

25~100 0.09

120~200 0.007

36 90 195 342
48 120 260 520
60 150 325 650
55 150 310 600
50 140 300 550
50 140 290 542
60 160 330 650
55 150 310 600
50 140 300 550
40 100 230 450
55 130 208 342
60 150 325 650
55 150 310 600
50 140 300 550
50 140 290 542
60 160 330 650
55 150 310 600
50 140 300 550
50 140 290 542
60 160 330 650
55 150 310 600
50 140 300 550
45 120 260 500
40 100 230 450
= {Z 5 E My H 51 4B /Triple rated output torque
5000 4000 4000 3000
10000 8000 8000 6000
<8 <8 <8 <8
<10 <10 <10 <10
<10 <10 <10 <10
<13 <13 <13 <13
7 14 25 50
1530 3250 6700 9400
765 1625 3350 4700
20000 *
95%
92%
2.1 6.4 13 24.5
1.5 7.8 14.2 27.5
(=10° C +90°

& AL 78 BE /Synthetic lubricating grease

=63

0.35
0.07
0.07
0.35
0.09
0.01

2.25
1.87
1.87
2.25
0.35
0.31

IP65

=V any direction
=

65

<68

6.84
6.25
6.25
6.84
2.25
1.87

<70

23.4
21.8
21.8
23.4
6.84
6.25

\NANSHSIN®

588
1040
1200
1100
1100
1050
1200
1100
1100

900

588
1200
1100
1100
1050
1200
1100
1100
1050
1200
1100
1100
1000

900

3000
6000
<8
<10
<10
<13
145
14500
7250

51
54

68.9
65.6
65.6
68.9
23.4
21.8

S/



AN = DA Rl Committed To Building A World-class Transmission Brand \NANSHSIN® WAERSERIES

BAFITEH R — R P EEEEME \NANSHSIN®

& \ 3% (INPUT)
oot 14 i H3§(OUTPUT) 3\ BE(INPUT)
R 12 oot u  Hi3(oUTPUT)
///’\ 450/’ LZ
< L3 P 13
( p
| Vs 2| e 5 | ‘ 1 B e
= \ \ =22
L : | :
001/ T Ll ' IT A = T . T
B1h9 L8 - - S B1h9 L8 o S
1 My, I bede 1\ %. | bC4g
, L5 P 5 L3 ==
D1 &o’ y 40566 D1 m 00566

DIMENSION DIMENSION

SINGLE SECTION DOUBLE SECTION

R~ (89, BEL i=3~20) o R~f (WH, JEEELE i=15~200)
Dimension(single stage,Ratio i=3~200) Dimension(double stage,Ratio i=15~200)
R~ /Dimension WAER050 WAER070 WAER090 WAER120 WAER155 WAER205 Rt /Dimension WAER050 WAEROQ70 WAER090 WAER120 WAER155 WAER205
D1 - M5 M8 M12 M16 - D1 - M5 M8 M12 M16 -
D2j6 - 16 22 32 40 - D2 = 16 22 32 40 =
D3gs - 52 68 90 120 - D3 - 52 68 90 120 -
D4 - 62 80 108 140 = D4 = 62 80 108 140 -
D5 - M5 M6 M8 M10 - D5 - M5 M6 M8 M10 -
D6 - 17.5 29.5 39.5 49.5 - D6 - 17.5 29.5 39.5 49.5 -
L1 - 6.5 8 17 15 . L1 - 6.5 8 17 15 -
L2 - 36 46 70 97 = L2 = 36 46 70 97 =
L3 - 28.5 36.5 51 79 - L3 - 28.5 36.5 51 79 -
L4 - 149.5 203 266.5 359 - L4 - 181.5 240.5 290 431 -
L5 - 4 6 10 16 - L5 - 4 6 10 16 -
L6 - 13 20 28 36 = L6 - 13 20 18 36 =
L7 - 3 3 5 5 - L7 - 3 3 5 5 -
L8 - 25.3 32 40 63 - L8 - 25.3 32 40 63 =
C1 - 60 80 130 180 - C1 - 60 80 130 180 -
C2 - 70 90 145 200 = C2 = 70 90 145 200 -
c3 - M4 M5 M8 M12 - c3 - M4 M5 M8 M12 -
Cdce - 14 19 24 35 = Cdas - 14 19 24 35 =
Cbce - 50 70 110 114.3 - Cbas - 50 70 110 114.3 -
Cé = 35 6 14 19 = Cé = 35 6 11.5 19 =
C7 - 35 54 81 81 - c7 - 35 54 67 81 -
c8 - 105 147 194.5 253 = c8 = 105 147 178 253 =
C9 - 24.2 29.5 45 57 - C9 - 24.2 29.5 42.5 57 -
C10 - 9.5 14.5 27 32 = c10 - 9.5 14.5 27 32 =
B1 - 5 6 10 12 - B1 - 5 6 10 12 -

H1 - 18 24.5 85 43 = H1 - 18 24.5 35 43 =



B TS R — RN o B 5

WPFR SER| ES Committed To Building A World-class Transmission Brand \NANSHSIN® WPFR SER| ES

\NANSHSIN®

Series Planetary Gearbox
RA1TEBIRY]

FEATURES
= ot

TEBRSHBHRXA—AREWRIT, HEREAOAERE,
TERXAHEREIRT, SinEMmER RS S HRESH B S,
W RARBSNRESHOREKEIHRCE2,, MRS RENTN BT H#14,
WS BESME DREHEBIRTT, MIRSEENEERERIES,
BG5S DIAMEERARNEE AR, MRRERHIE
ENAZEENNNEE,

RAWLSHER IR, SIFRHAES. LE PERSE30% UL,
SRFRAER, WECERBASSEML,

R CERNE S, SREMMRT, EMEEREY—, BEEFK,

REPERE, ERESHREMTS=H

HHIREE, WBRSBEENZEETE, INDICATION FOR MODEL

, SELECTION GENERAL NOTICES
Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity. [ J 7]‘}1%[[] ﬂ—%%ﬂ—: [ J 'l %Zﬁ%ﬂ

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

. = - WF, BS #E
Gears refer to foreign imported software-assisted design to [ w J - [ PFRJ — [ 090] - [ 010] - [ K ] -[ P2 ] - A RS _ RE tt; )
obtain the best tooth shape to reduce noise. | | Motor T ‘REL‘;E BErR
O H K reference T j;— = i o
The input terminal is connected to the motor shaft in a double-tight manner Ratio K-Key - BERTHENWS IR
to obtain the maximum clamping force and zero backlash power transmission. 3 » - ANAFRFAN R
a s%smonth - DAMESHEERDREMR T
Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear. Z ~ Type, model and torque
) ) . 7 — Ratio or output speed
el etz (gLl speed, ot e g ilzs — Working conditions and connection methods
higher than straight bevel gear input, io — Quantity and installed machine name
The meshing tooth imprint of spiral bevel gear has been optimized 15 - Inputmode and input ?peed tsi
s . i : . I AR 20 - Motor brand model or flange and motor shaft size
y optimum design, and the contact tooth surface load is uniform, and long running life. si
ize 25
Cochlear bevel gears are meshed by optimum motion error analysis and 042 35 %@f
strict process control to ensure high precision running back clearance. 060 40 Precision
Bl 080 —, o
Model 115 >0 P2ATA 154
ode 60 Standard backlash
PFR 142 70
& i PLR 80
Brand 100
200

o1



A TSR —RE F EE s8R

WPFR S RIS [ e B ===y WPFR SERIES

® JFHIE %% 5[5 = /Rotational inertia

\NANSHSIN®

. N . .
. i A MU \WPFR042 WPFR060 WPFRO80 WPFR115 WPFR142
3~10 0.03 0.135 0.75 2.5 5.8
PLANETARY GEARBOX " RN N N T
. iR =1 kg.cm? 20 0.03 0.09 0.39 1.2 2.73
N N Y S PN Rotati linertia J1
® FOERA M BEFE L /Performance crationalinerta 15 0.015 0.09 0.45 2.4 33
N s 2 25~100  0.01 0.035 0.2 1.4 2.3
e B I AR WPFR042 WPFR060 WPFR080 WPFR115 WPFR142
120~200  0.005 0.035 0.18 1.3 2.1
3 8 18 40 125 290
18
4 12 36 e 230 460 Wik urron) os U1 AR (1)
—— S It
5 16 40 110 260 550 s
S
6 8 20 40 90 340 | e
: 7 8 20 40 90 340 Tl CRO IR @
8 5 36 9 230 460 s 1
10 5 40 110 260 550 “\‘ ‘/” | m
12 8 20 40 90 340 s s Hsts Bk
s ] : gl & Shafttype S Shaft type K 5
14 - 20 40 90 340 DlMENSlON il — | l e #

20 IS AR SINGLE SECTION —= @ By B

15 16 40 110 260 550 .
25 16 40 110 260 550 o R~f (B, FMiEkE=3~20)
WA NG Nm 30 16 18 40 125 290 R ~F /Dimension WPFR042 WPFR060 WPFRO080 WPFR115 WPFR142
Rated output torqueT zn 35 16 40 110 260 550 o - 20 100 130 185
40 - 36 90 230 460 D2 = 5.5 6.5 8.8 11
50 - 40 110 260 550 D3 ~ 14 20 . 40
60 B 20 40 % 340 D4 - 50 80 110 130
, 70 - 20 40 90 340 o5 ~ 1 - 35 -
80 - 36 20 230 460 - ~ . hym " By
100 - 40 110 260 550 " B 80 120 160 30
140 _ 20 40 90 340 L1 _ 60 90 120 176
200 - 12 22 70 210 L ~ 35 20 c5 g7
£ {541 46 /Emergency stop torqueTonoT Nm 1.2 3~200 — {% 57 % ! 11 4B /Double rated output torque L3 B 3 3 4 5
HEH N /Rated input speed NN rpm 1,2 3~200 4500 4000 3500 3500 3000 La _ 2 ] 1 2
BRI IMaximum iutput speed 113 rpm 1,2 3~200 10000 8000 6000 6000 4500 = ~ = s i o5
AR B /Standard backlash P2 arcmin ! 3~20 <26 <16 <16 <16 <16 L6 - 2.5 5 5 5
2 16~200 <28 <18 <18 <18 <18 B ~ g 10 1 5
A # N M Torsional rigidity Nm/arcmin 1,2 3~200 0.65 1.8 4.7 11 35 L8 B 163.5 204 88 340.5
YR [E 51 /Allowable radial force Fzas N 1,2 3~200 165 240 400 1240 3700 L9 _ 48 5 7.5 9.5
YR F1/Allowable axial force Faqe N 1,2 3~200 135 220 420 1000 3500 10 ~ 1 15 93 05
B %5 /Lifespan hr 1,2 3~200 10000 * c1 _ 70 90 145 200
M [Efficiency % ; 2;22(?0 ET: c2 - M4 M5 M8 M12
c3 = 6-14 14-19 16-24 22-35
FH Weight kg 1 3~20 0-3 0-85 2 6 ! ca - 35 54 81 81
2 25~200 0.4 0.9 2.3 7.5 13 ce B 50 20 10 143
13 3SR /Working temperature © 1,2 3~200 (-10° C +90° C) c6 _ 35 6 14 19
78 /Lubricating & R 7B Bg /Synthetic lubricating grease
B4 %4 /1P Grade 1,2 3~200 IP54 E; : ?Z 23 ;;2 ;Z
224 77 18] /Installation direction 1,2 3~200 £ & 77 [8 /In any direction
Nk (m ~d000 ERA) dB(A) 1,2 3~200 <65 <65 <68 <73 <75 CC190 - ;050 11575 ]2972 24;; °
B1ho = 5 6 8 12
H1 - 16 22.5 28 43

62 63



1] S s A RdlEeY Committed To Building A World-class Transmission Brand \NANSHSIN® WPLRSERIES

B THTE R — R o EE 5

\NANSHSIN®

it (UTPUT) 2 — SN (INpUT)
0Ll e

PE— EY 4B

'?\ o Series Planetary Gearbox
1 _ L o FYI|| S e
I ¥ ¥ FRINFTEEE

HHAS AR

l Shafttype Shaft type K

C10
[

B1h9 16

\
a1 Y 1

H1

=] @ & B FEATURES

DIMENSION PR

DOUBLE SECTION

TEBRSHBHRXA—AREWRIT, HEFAOAERE,
TERXAHEREIRT, SinEMER RS S WRESH B E,

o R~F (WY, HELEi=15~200) W R BIRBENEESHEKEIHRCE2, MG R MR P H M,
Dimension(double stage,Ratio i=15~200) B3 BESNE DR AEENIR, MIERENEREERS,
A\ 5 SR HHE BER A DUAE A, MERBUERARHIR
R ~F /Dimension WPFR042 WPFRO060 WPFR080 WPFR115 WPFR142 LINGSIRR S B O =
b1 _ 20 100 130 185 EHRBEROHNER,
D2 - 5.5 6.5 8.8 11 RBRECER R, SEHHAES. LE PERE30% ML,
D3 - 14 20 25 32 SRR, WESEREBAS8EMNL,
D4 - =0 S0 110 10 R CER NS S, SRERLRT, BRETAEY—, EREHK,
b5 - 1 25 3% 40 BECERUS, BREEHZEMTSE
D5 - S hE 0 /12 BRI H, MRS ISR AR,
D7 - 80 120 160 230
L1 - 60 90 120 176 Planetary boom and output shaft are intergrated
L2 - 35 40 55 87 structure designed to ensure maximum torsional rigidity.
L3 - 3 3 4 5 Planetary wheel with full needle design,increase the contact
L4 — 2 1 1 2 area to improve the rigidity and output torque.
L5 - 25 25 40 65 The gears are carburized and quenched to the HRC62 with low carbon
L6 _ 25 4 5 5 steel surface for optimum wear and impact toughness.
L7 = 8 10 14 15 Gears refer to foreign imported software-assisted design to
L8 _ 172.5 2985 288 388.5 obtain the best tooth shape to reduce noise.
L9 = 4.8 5} 7.5 95 The input terminal is connected to the motor shaft in a double-tight manner
L10 12 18 23 25 to obtain the maximum clamping force and zero backlash power transmission.
C1 _ 70 90 145 200 Adopt spiral bevel gear design, allow high output torque,
M M M8 M12 more than 30% higher than straight bevel gear.
C2 - 4 5 1
c3 _ 6-14 14-19 16-24 29_35 High tolerance input speed, more than 8 times
higher than straight bevel gear input.
C4 - 35 54 81 81
The meshing tooth imprint of spiral bevel gear has been optimized
€ - 80 70 1o 1143 by optimum design, and the contact tooth surface load is uniform, and long running life.
Cé - 3.5 6 14 19
Cochlear bevel gears are meshed by optimum motion error analysis and
c7 - 60 80 130 180 strict process control to ensure high precision running back clearance.
C8 - 16 30 45.5 57.5
C9 = 100 137 192 246.5
C10 - 9.5 14.5 27 32
B1h9 = 5 6 8 12
H1 - 16 22.5 28 43

64



WPLR SER|ES Committed To Building A World-class Transmission Brand \NANSHSIN® WPLRSER|ES

B TS R — R o B 5

\NANSHSIN®

PLANETARY GEARBOX

® IRV BE B B /Performance

spo b ion Bl e AEL  WPLR042 WPLR060 WPLR080 WPLR120 WPLR160
3 8 18 40 125 290
4 12 36 90 230 460
5 16 40 110 260 550
6 8 20 40 920 340
: 7 8 20 40 90 340
8 B 36 90 230 460
10 5 40 110 260 550
12 8 20 40 90 340
14 8 20 40 920 340
20 12 12 22 70 210
15 16 40 110 260 550
25 16 40 110 260 550
S ' 30 16 18 40 125 290
Rated outputtorqueTZN il 35 16 40 110 260 550
40 - 36 90 230 460
50 = 40 110 260 550
60 - 20 40 90 340
INDICATION FOR MODEL ) 70 - 20 40 90 Sl
ELECTION ENERAL NOTICE L
S CTIO G OTICES e B B By el B
| = — ST Ak ~
o HFpAIERR o JTERINA 140 20 40 90 340
200 = 12 22 70 210
£ {231 45 /Emergency stop torque TanOT Nm 1,2 3~200 Z{Z 5 E B H 1 4B /Double rated output torque
HUE 1 A\ 3 /Rated input speedN1N rom 1,2 3~200 4500 4000 3500 3500 3000
- RARBAFE Maximum iutput speed N18 rom 1,2 3~200 10000 8000 6000 6000 4500
. - HlFp, RS HE
w PLR | == | 090 |mm | 010 |mm | K |mm| P2 | wm T X7 S . . o < < < < <
[ )= (PR ] =090 J == 010 Jum [ K Jom= P2 ] t'”NToto:? R b M 8 St bk - 1 3~20 26 16 16 16 16
. | reforomce L TRBEEFR 2 16~200 <28 <18 <18 <18 <18
’R;io ,L‘Kffy - BERRENINE R #11% Al % orsional rigidity Nm/arcmin 1.2 3~200 0.65 1.8 4.7 11 35
- ANAFRFANEHE . '
i s.ss-iﬁoiﬂih _ DA E S ok R Ok R B2 B 71 /Allowable radial force F2:s N 1,2 3~200 165 240 400 1240 3700
M 24 18 J1/Allowable axial force Foas N 1.2 3~200 135 220 420 1000 3500
6 = Type, modeland torque A% ILifespan hr 1,2 3~200 10000 *
7 — Ratio or output speed
3 - Working conditions and connection methods V- o 1 3~20 94%
— Quantity and installed machine name XA [Efficiency @ .
1(5’ — Input mode and input speed 2 26~200 91%
A% 20 - Motor brand model or flange and motor shaft size - 1 3~20 0.3 0.85 2 6 11
. EE /Weight kg
(S)I:: 25 o 2 25~200 0.4 0.9 2.3 7.5 13
35 5
060 20 Precision f§ F3 3R & /Working temperature °C 1,2 3~200 (=10° C +90° C)
B 080 50 — ~ 35 38 - At S SEL pe : o
P2 FRE R B /878 /Lubricating & B JiE 78 B /Synthetic lubricating grease
Model 120 60 Standard backlash .
PER 160 70 B3 &% /IP Grade 1,2 3~200 P54
& 1 PLR 80 s o - -
Brand 100 2R %77 16 /Installation direction 1,2 3~200 FEEA MM any direction
...... Notea o o000, off gach dB(A) 12 3-200 <65 <65 <68 <73 <75
200

60



68

A%

Specification

ERREI

Rotational inertia J1

DIMENSION
SINGLE SECTION

R (879, FuEtti=3 ~20)

R ~F/Dimension
D1
D2
D3
D4
D5
D6
D7
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
©1
C2
@3
C4
CB
C6
C7
C8
C9
C10

B1h9
H1

JY ﬂl?gﬁhLKEE/Ro&monahneﬂm

WPLR SER| ES Committed To Building A World-class Transmission Brand

\NANSHSIN®

WPLR042 WPLR0O60 WPLR080 WPLR120 WPLR160

2.5
1.3
1.2
2.4
1.4
1.3

5.8

1.9
2.73

8.8

2.3

2.1
A3 (INPUT)

g G4 | P
3~10 0.03 0.135 0.75
1 12, 14 0.03 0.09 0.45
kg.cm? 20 0.03 0.09 0.39
15 0.015 0.09 0.45
2 25~100 0.01 0.035 0.2
120~200 0.005 0.035 0.18
S5t oot # —
Tw
,T“
®f 2
. L
Il
8| 3 ,,,,? 7 g 8] Sﬁ%ﬁ;lg Sﬁ%?%;
L @7 &
s %
WPLR042 WPLR0O60 WPLR080 WPLR120
- 52 70 100
- M5 M6 M10
- 14 20 25
- 40 60 80
- 17 25 35
- M5 M6 M10
- 60 80 115
- 60 80 115
- 35 40 55
- 3 3 4
- 2 1 1
- 25 25 40
- 2.5 5 5
- 13 21.5 40.5
- 153.5 204 288
- 4.8 B 7.5
- 12 18 23
- 70 90 145
- M4 M5 M8
= 6-14 14-19 16-24
- 35 54 81
- 50 70 110
- 3.5 6 14
- 60 80 130
- 16 30 45.5
- 100 137 192
- 9.5 14.5 27
- b) 6 8
- 16 22.5 28

Lio

WPLR160
145
M12
40
130
55
M12
162
142
87
5
2
65
5
32.5
340.5
9.5
25
200
M12
22-35
81
114.3
19
180
57.5
246.5
32
12
43

WPLRSERIES

Hy it (OUTPUT)

0Lt

BAFITEM R — RN P EE g

L8

7

I

\NANSHSIN®

[y1)

°

]

o5

€3

R ~F /Dimension
D1
D2
D3
D4
D5
D6
D7
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
C4
CB
C6
C7
C8
C9
C10

B1h9
H1

WPLR042

DIMENSION

DOUBLE SECTION
o R~F (WF, HEiELE i=156~200)

WPLR0OG0O
52
Mb
14
40
17
Mb
60
60
35

3

25
2.5
13
172.5
4.8
12
70
M4
6-14
35
50
3.5
60
16
100
9.5
5
16

HARS

Shafttype S

Lifichv

Shaft type K

Bih9

P 3%
‘/6‘

WPLR080
70
M6
20
60
25
M6
80
80
40

3
1
25
5
21.5
228.5

18
90
Mb
14-19
54
70

80
30

137
14.5

22.5

N3G (INPUT)
&
WPLR120 WPLR160
100 145
M10 M12
25 40
80 130
35 55
M10 M12
115 162
115 142
55 87
4 5
1 2
40 65
5 5
40.5 32.5
288 388.5
7.5 9.5
23 25
145 200
M8 M12
16-24 22-35
81 81
110 114.3
14 19
130 180
455 57.5
192 246.5
27 32
8 12
28 43

69



70

WR S ER| ES Committed To Building A World-class Transmission Brand \NANSHSIN®

Series Right-ANGLE Gearbox
5% R

FEATURES
P R

WRERFIX iR &< BRIk,
BRIURER P ERFE,

REEZEEHE .
BITHSN R BRI T mERL .

RKRBH, BRESSTDIATIFRE .
R (0BT, S, XEEd ),
ETHEM, RGP,

WR series adopts worm bevel gear design.

The backlash can be adjusted according to customer's requirement.

Low noise

The delicate shell design can be matched with any direction.
Easy installation, can match with variety kinds of motor or gearbox.
Multiple output(hollow output,solid output or dial output).

Fully sealed structure, maintance-free

WR SERIES

B TS R — R o E 5

\NANSHSIN®

INDICATION FOR MODEL

SELECTION

o HIMESKR

[w )mm[ RS | m=|090|mm( 005 |mm zims

&h hE
Brand

B
Model
RS
RD
RH

A
Size
042
060
090

R b
Ratio
1

2
3
5

Motor
reference

GENERAL NOTICES

1T 520

- HF. B HE

— R Hb B g
- IRREEAR

- BERREONWHSE R
- NN FRFANEE

- DR STREIRGIAMR T

— Type, model and torque

— Ratio or output speed

— Working conditions and connection methods

— Quantity and installed machine name

— Input mode and input speed

— Motor brand model or flange and motor shaft size

/1



WR SER|ES Committed To Building A World-class Transmission Brand \NANSHSIN®

PERFORMANCE DATA OF

SPEED
REDUCER

® RN REE R /Performance

AIEHLE S/ Model
SME R~F/Frame size
A 3% £t /Reduction ratio
T %1 tH #7158 /Rated output torque
£ K H # %8 /Maximum output torque
3 % \ % 3/ Rated input speed
£ KB\ % 3% / Maximum input speed
3 B /Backlash
2 ¥ 12 ) % 3 / Allowable radial load
2 % 1) T2 #i/Allowable axial load
) N\ 3 2 /Input shaft size
% ) |3 £ / Rotational Inertia
A % W P4/ Torsional rigidity
T % tp/Rated lifespan
R &R / Efficiency
T 138 &/ Working Temperature
& ¥ 77 18]/ Rotation direction
B3 3 % 4R/ Protection Level
738 77 = /Lubricating method
2 % 75 [t/ Installation direction
% & /Noise Level

E 2 /Weight

/2

WRS/WRH/WRD090

(190
2 8 5
45 36 26

2% 25 E i H 1 4B /2 times rated output torque

15 B o7 3 /Adjustable backlash

WRS/WRH/WRD042 WRS/WRH/WRD060
42 Jeo0
2 3 1 2 3
12 10 20 18 15
1500rpm
300N 500N
150N 200N

<11/ <12 (mm)

0.02kg * [em]’

14/ <16 (mm)
0.06kg * [cm]’

1.2Nm/arc min 1.5Nm/arc min

1200N

500N.
<19/ <24 (mm)
0.4kg * [cm]’

5Nm/arc min

10000h ( #i7E fa 3 & % i \ % 3 £ ¥ T/Condition under rated load and rated input speed )

95%
-10°C ~80C

5 %5 \ %48 Jz_/Opposite with the input shaft

IP65
BE S 78 IGrease Lubrication
£ & 77 [8 /In any direction
<65dB(A) <68dB(A)
0.7Kg 1.3Kg

<69dB(A)
4.1Kg

WR SERIES

B TS R — RN o EE 5

2C1(PCD)

C(PCD)

B2

R~F/Size
A
A1l
B
B1

N
a,qf{
Wi
s | 1
T J
22 (PCD) []
WRD04202/03 WRD06001/02/03/05

42.5 60
42.5 60

4— M3 Depthd
4 —M33R Depthd
4-M33R/Depth
48
42
35
3
94
21
36
68
12
13.56
26
47
10

21.25

70
46
36
3
125
27
52
98
14
16
34
64
16

30

4 — M4 7R IDepth
4 —M4 3R Depthh
4 —~MB3R Depth O

\NANSHSIN®

=

~
/$

AN i
\ /
-
26w LI\E
WRD09001/02/03/05
90
90

4—MB5 %R IDepth

4—MB R Depth8

4-MBR Depth12
100

93.6
25

45

/3



74

WR SERIES

RS

Committed To Building A World-class Transmission Brand

R~t/size
A
A1l
B
B1
B2

WRS04202/03
42.5
42.5

4-M3 R Depthd
4—M3 R Depthd
4 —M33R/Depth6
48
42
B5)
3
74
21
36
68
12
13.5
26
47
10

21.25

201 (PCD)

2C(PCD)

B

(2 (PCD)

WRS06001/02/03/05

60
60

4~ M4 R Depths
4 — M4 R Depthb
4—MB R Depth1 O

70
46
36
3
97
27
52
98
14
16
34
64
16
5
30

\NANSHSIN®

WRS09001/02/03/05
90
90

4~ MB53R IDepth8
4—MB R Depth8
4 —MGR Depth] 2
100
70
60
3
136.5
35
80
129
19

41
93.5

25

45

WR SERIES

B THE R — R o B 5

Al

4R

R~F/Size

j'_l 21 (PCD)
| e
/ \
\ i
Q¢ |0
[

X 20(PCD)
e
=N
\ Sﬁ J
JaN 2
B2
Gl
H
=] |I I I|
oV L 1 |
- T e
| \
\ ] L
o |l 4 K
I I
(2 (PCD) a
WRH04202/03 WRH06001/02/03/05
42.5 60
42.5 60
4— M3 Depthd 4—M43R IDepth
4—M3 R Depthd 4—M43R Depthb
4—M33R/Depth 4—MB5 R Depth1 0
48 70
42 46
85 36
3 3
65.5 88
8 10
36 52
68 98
8 14
25 34
26 34
47 64
12.5 18
21.25 30

\NANSHSIN®

=

N~
VA
\ N,
% W/\a<\
aem /T \a
WRH09001/02/03/05
90
90

4—MB5 R Depth
4—M53R Depth 8
4 —MGR Depth] 2

100
70
60

3
125
16
80
129
20
54
50

93.5
25
45

75



/0

WTNSERIES

Committed To Building A World-class Transmission Brand

I:I:Iggﬁﬁggslzé Hollow Rotary Platform

FEATURES
7= i R

R EEERETESN, RARKNSENL.

The rotary surface can be connected with parts directly which is more convenient
for installation.

=EE, EEENMNBEEOIA + 15arcsec.

High precision,repeated positioning accuracy can reach to 15 arcsec

=AMIRIT, BELEEEATERER.

Hollow design,very convenient for go through the line

EH AT ROERAS HE B,

Can be equipped with various brands of servo and step motor

KORPREHEFERPERFHADPIS0mMm,

The maximum diameter of the large hollow Rotary Platform is 150mm

\NANSHSIN®

WTNSERIES

B TS R — RN b B 5o h#

\NANSHSIN®

INDICATION FOR MODEL

SELECTION

° HlAESKR

(W Jmm| TN |m= (060 | mm [ 005 |mm mis72

& b
brand

El
series
TN

| motor model
IRt
ratio

5

10

18

A&
size
060
085
130
200
280

GENERAL NOTICES

o JTERINAN

-HUFp, BS. A8

- BIRECEL 4R

- TRREESR

- & RLRAWURZR

- N BRI HiE

- Ok TR SEiE= REiEH RY

- Series,model,torque

- Ratio, output shaft speed

- Working condition, connection mode

- Quantity, installation equipment name
- Input mode, input speed

- Motor brand, flange, output shaft size

77



\NANSHSIN®

Committed To Building A World-class Transmission Brand

WTNSERIES

\NANSHSIN®

A TEHR R T EE s

WTNSERIES

WTNZEFIEBER/WTN series Performance data sheet

&#BY/Overloading type

45’
4M4¥12 BQS

|45
042

60
50£0.2

60

O | A0

le

o
4% 10

404, 5EA

§911

R

[UZ]

8o

80°0+

) 080

32.2

22

32

0 04
e

004
guoee

9, %‘ﬁ
Hm&%ﬂ“

&

34
42

9
4
(e50)

39

gy,

or ()

WTNO060

S0°0F S

WTNO85

bygl 0%9'6 038°¢ 0371
Otd|

apLL gp.9 gpa9
G10°0>
$0°0> 200>

W*NO0T W'NOO! WNOS ;EZO_ Eaa
ZOmN [peoj |eixe a|gqemol|y

N000L NO0OY N000¢ NOOS
(2innAs d|qeIsnipy)ysepded ON ( %L bitlo ) YR %

J9SJJeG | +

ulwalieg

uIw/00z
WNO8L WNOL WNOL WNO¢ WNZE WNOL WNZL WN9'Y
,01x0009%1 01x0¢¢19€  01x0c¢l9€ 01x95518 ,01x99518  0LxE6SeL 01xE6SCL ,0LxLO0SE
8l 0l 8l 0l 8l 0l 0l § 0l

Bugeq Jajo1 passoid ;X ¥

1OIOWONRS YBEEMO0SL  Jojow OMRS T UIEIMOGL 1010 OB 4 M IO ~MO0T
Jojouw Rdd3IS WETFET0eL/0L  Jojow saddarg VG HLHEI8 Jojoul Jaddays V7 475/ G

1030w 003 1k B Xf [E}MO0 | ~MQG
Jojow Jaddes Y E & F Y

668

2-05¥6.5

6-M48.5 EQS

@v_@.o Wb

EE
an3] UoI3}0I4
i
asioN
28
wioped Bunyeyol jo Ayd1uadu0)

FVEHGEHY

§L0°0> wiojiejd bunejos jo wisa|eleq

FOEOE#Y
BI}BUI JO JUBWIOW 3JqeMO||Y

FUHBRY

BYLO#LY
yseppeg
#H%
uoispaid buiuonsod 1953y
ST AEY
uoisaid uoissiwsuesy ajbuy
e
paads Jndino pajey
FRRE2E
g anbuoy 3ndino aqemoyy
WNes BHRELY

BI}Jaul [RUOIRIOY

O1xL0S€ B2

oley
s HEY
adfy bulieag

HH O T HUHY

ad/y Jojow paddinb3
SRV TEY

08ZNLIM 00ZNIM 0ELNLIM G80N.IM 090N.LM

79

/8



80

WTNSERIES

&E#8Y/0verloading type

WTNZRFIMEBEER/WTN series Performance data sheet

WTN130

120

B TS R — R o B 5

262

9/& o zjsvg.m
9-25
N a N\
~. /| 7 N
B0
{/ / AN
i R
! S
{ MIIE
v B (| | |
\ /
N /

N\, e
NS=HA
a0 NG

ERREDAE

A [ TT

9.4

\ |

WTN200

B\ g-p. 595

170
140

6-116
2-o8H7

\2H2.5 |

a7’y

o144,

as0m6 (F")

o144

4011

ot

8 <} ::j
34.5 —
6
2
64
15 2
3.5
0.5,
6.5
€] |

217087

9,06
970+.01
2]

128

\NANSHSIN®

130

11040.3

4-09

63.5

110£0.3

130

158.5

5 »
ﬁ’/ 5 \3 ®
5 S
-T2 S 1 \
60
200
&

200

240

5| \ 45

90

WTN280

WTNSERIES

2-08'% %10 1220]0 "
9-0847 () T 4'%1}%5
(O 9
NV = \
o/ 1 N\
- \\\ ) |-
ER S \
3 = \ og1,
7/ /ol H

Committed To Building A World-class Transmission Brand

\NANSHSIN®

0,05

2110002

8L.5
29.5 30
o g £
H S Q
5 g 5 <
iy B
=
ST
10
16
167

81



82

WTNSERIES Committed To Building A World-class Transmission Brand \NANSHSIN®

RS hErs G ERYISE/Features

— RN, BERERIME, FTITBXE
Integrated input shaft, high bearing rigidity, no risk of slipping

BURgIT I RS/ Simplified Design

ERERENTFEa R WFEL RIS TFa L. SERKTE
FHATMHRHAELL, ATROTIRT. BM4RE. RERSETEN
TS,

Tables and arms can be installed directly onto the output table. This saves the
hassle and cost of designing an installation mechanism, arranging necessary
mechanism parts, adjusting the belt tension, etc, when mechanical components
such as a belt Motor + and pulley are used for installation.

FRapHL+ LA ER DgI &%l
(BFRiRit. RW) (—&Er=m)
Motor + Mechanical Components DG Il Series

(Designed seperately, Purchase) (Integrated product)

AOEHSiEEFan =i, e

The large diameter hollow Rotary Actuator could simplify wiring and piping

AORF=F, (BSF) TRTHALEXMIRESERESHS, FEREirit
B,

o AR E RIS

The large diameter hollow hole (through-hole) helps reduce the complexity of
wiring and piping, thus simplifying equipment design.

«Filling equipment with piped-in liquid

f5: WTN200

E |
£
S
=1
]
0

AOEARZSHEEEEE/ The large diameter hollow Rotary Actuator

Bs IR hEsiE

Model | Frame Size(mm) Hollow Diameter (mm)
WTN60 60 $28
WTN85 85 ¢33
WTN130 130 $62
WTN200 200 $100
WTN280 280 $150

1T EBAY#3:E /Standard Structure

IRIEERDHITIRED.
Jrama; blue section is execution-driven
Hollow Output Table

/
AT

cross-roller bearing

WTNSERIES

Stasi-ENltt/High Load and High Rigidity

BRI FENMARBRATHR, SMTERE. BN,
- RARIFAGE  4000N
« RABIFIRIESIRE 100N-m

The heavy load rotary actuator uses a cross-roller bearing which
allows for both high load and high rigidity.

Maximum Permissible Axial Load 4000 N
Maximum Permissible Inertia Moment 100 N-m

[1E1771 1
fn &: WTN200010

Example Operation
Actuators Name: WTN200010

RIZERE 9Tkg(TIFW6+IIFR)

: TYE¥10kg/ =64

. TE&31kg(BEfR500mm, [E20mm, £kl)
{ERHHAOREES © 160mm
REFE: KFE

Load : 91 kg (load 6pcs + working table)
Load 10 kg/piece x 6 pieces
Table 31 kg
(Diameter 500 mm (19.7 in.), thickness 20 mm (0.79 in.), iron)

Overhang Distance : 160 mm (6.3 in.)
Installation Direction : Horizontal

T1E¥10kgx 64

Load 10 kg% 6 pieces BEE91kg
Total Mass 91 kg

IHEARE3Kkg

Table Mass 31 kg

<
<

A

$500mm

UG
High Load

SURE TkgIHAGE 893N,

(10kgx64+31kg) xgm/s2=893N
DG200RHIZFIF4HAAE/94000N, EHIFER.
The axial load for a total mass of 91 kg is 893 N.

The permissible axial load of the WTN200 is 4000 N, so
this is within the permissible value.

BAFIEER RN P EE R

\NANSHSIN®

AI&HEIREN/High Load Driving

-SRI

EETIEEFRE160mnfliIEH10kg B ITIEYIRT, 1RIESIER
15.7N'm, 10kgxgm/s2x0.16m=15.7Nm
WTN20O BB HERT100NM, EFFEN.

«High Rigidity

When a working load of 10kg is placed at

a distance of 160 mm (6.3 in.) from the center of the table, the
Inertia Moment is 10kgxgm/s2x0.16m=15.7N'm

The permissible moment of the WTN200 is 100 N-m, within the
permissible value.

160mm

10kg

R IERE e R
e mREnnEEIF T Fah BB BT e IR IR A)

A high-rigidity rotary actuator allows a large load that
is far away from the table center to be driven

TSRS FEE RE(RL/High Positioning Accuracy with Non-Backlash

° Tifks
o EEEMME +15arcsec ( £0.004°)

BERE-—EAZ. —ERE (%8 ) TORE.
® Non-Backlash

® Repeated positioning Accuracy +15 arc seconds (+0.004°)

Note
The repetitive positioning accuracy is measured at a constant
temperature (normal temperature) under a constant load.

83



84

WTNSER|ES Committed To Building A World-class Transmission Brand \NANSHSIN®

Fi&iefl/Applications

1 A=A

Applications that require hollow shaft

° BRERFHIIRE

Filling equipment with piped-in liquid

© JtZFFIR  Optical Application

1 E=5iHaEEEHAIAIE Applications that Require High Performance Motors

° SREEVAREGMEES)

High Positioning Accuracy
(Image inspection equipment)

° AEIRMERETURFRR(HETIERE)

Applications with Load Fluctuations
(Disc manufacturing equipment)

I Z%EAMEEBA Install in Any Direction

DGI RFIBR7KFEREI, ERIEE TR
EERE, KERITATEER .

The DG Series can not only be installed
horizontally, but can also be ceiling

mounted or wall mounted. More options =

for equipment design.

hElE e EBEREE O EIEERSEH. R

RS HSEEARRRSR, BRI ENET R
B Ceiling Installation ”‘
Note i
A small amount of grease will occasionally seep

out of the hollow rotary actuator. If a grease TEETRE

leak would cause a contamination issue near the
machine, either perform routine inspections, or
install protective equipment such as an oil sump.

Vertical Installation

K

Horizontal Installation

1 EEENIEARIE
Applications that Require High Rigidity

° FENMEMERE R R IR (EERER)

Applications in which a Moment Load is Applied
(Ceiling installation)

A TSR —RE T EE s

INSTALLATION OF

PLANETARY REDUCERS

IR LR % T K
RENEREISE, BOTAFER,

\NANSHSIN®

TERENSAREEZZHNORTHAEARDIEMNS, BFURTERKIEENERDE, (#5rRHT0NHER0ERDL, )

RRDIANH T R B ETE,

If your company install the planetary reducers by yourself, please comply with the following requirements:
The size of the motor mounting flange of the planetary reducer differs according to the servo motor, the designated
servo motor maybe not able to be installed. (Please be sure to install the designated servo motor when purchased)

There may be rust inhibitor on the output shaft of the servo motor.

BY souvwmsmanan. mssnbe,

Clean up the rust inhibitor and grease on
the installing side of the motor shaft

2 AERESR

*3 B EEHMIE Diagram 3 Bolt fastening torque

242K/ Bolt size M3 M4 M5 M6 M8 M10 | M12 = M16
ik N-m
TR AL 1.0 25 5.1 8.7 21 42 72 134
Motor
mounting bolt, kgf-m | 011 | 026 | 052 | 089 | 21 4.3 7.3 14
N - -
S X EAe m 1.9 43 8.7 15 36 71 125
Fastening bolt
kgf = m 0.18 0.44 0.89 15 3.7 7.2 13 -

EY zamam, snEgessnsdes

flo MBS IEHIAN K 842 40 F R 5tIR
o BRUENERNBEFEIG, £
BENNSIARERAH L, (WHH
B, ERERHTRE, )

Rotate the input shaft, and align the top
of the fastening bolt at the plug hole.
Make sure that the fastening bolt is loose
at the time. Lay the reducer vertically on
he flat place, and face up the installing
side of the motor.(If there is a shaft sleeve,
please install it as the picture shows below)

I E Shaft sleeve

. Locking
Fastening shaft sleeve
bolt flithE
BE

BR DR EERBA AT P UEE
AT, WIADIKEZESEETEZ
WEN, FHENEEAERELAS
i, (ZHR3)

Please insert the motor shaft into the input
shaft slowly to avoid impact, and make sure
the surfaces of the motor flange and the
reducer flange are stick together. Fasten the

motor mounting bolt according to the specified

fastening torque. (Refer to the Table 3)

85



86

Committed To Building A World-class Transmission Brand

\NANSHSIN®

58
Installation and setting up

o ERAEHBEEMNKNAMEM, (WHEF IS,
KBEFRER, BEEEBBRRTEE, )

o FIRETO ~40°CHIES,

o FREAFELKRMNNEH, ABEREVLERE,
LRE, NFRIEEFRARE,

B spmenzsra, snzosnm
SEE RN R, (B0E3)

Follow the specified fastening torque,
and fasten the fastening bolt of the
input shaft with the tools such as torque
spanner.(Refer to the table 3)

e Please avoid using in places that are exposed to rain directly.
(Please consult to WANSHSIN or our distributors first when using
it outside or in places exposed to dust and water.)

o Please fit it in the temperature under 0-40°C.

o Please install it on the stable and firm surface, and fasten it tightly
with bolt.

During installation, it is necessary to ensure easy maintenance and
inspection.

onh U ES
Output shaft connecting

o FRHHIAZE FRFUR., FHR. EREN, EXAHLL
BRI, RARHEZ MG, RMNIEEREEENT
RIEA T,

o TERMENE RIS, MRETHN, BT R R mh e
MEREA R, RARFEROREEHLE, TS5
ARSAEVINE 25,

o ARSI SRERIT AT SERE, FRTEMNEIR,

o EREIEEHE Lo

[ =27, =nmusm,

Install the plug,and the
installinn complete.

e When installing gear wheels, belt pulley and chain wheels n the
output flange model, please use the installing design with bulged
edges, and implant them into it. Avoid applying too much strength
when installing.

e When installing coupling, chain wheels on the output shaft, please
do not apply too much strength onto it. Do not knock too hard on
the output shaft when implanting, or it may cause damages to the
axletree and the interior part of the reducer.

e Too much gap between shaft and key in the coupling may cause
firing so please be careful when installing.

o Please accurate centering when connect.

TR =80 (PRiE=E)

Install it to the output flange(limited to the flange model)

BEBMUETRETH LA ZNEN, EEARERTFETIAZNENEERERTER,
When installing the device component to the output flange, please follow the specified fastening
torque and use the tools such as torque wrench.

24K/ Bolt size | M3 | M4 | M5 | M6 | M8  MI0 | MI12 M16  M20

KE@IE | Nem 19 | 43|87 | 15 | 36 | 71 | 1256 | 310 | 603
Fastening
bolt kgf*m | 018|044 089 15 | 37 |72 | 13 | 32 | 62

W OREFEARRE 1200
Recommended strength level of the bolt is above 12.9

A TSR —RE T EE s

FNEilEEER

Notes before starting

o NI NERMEENNDEN, FLIEEITEEER,
o EXIZHN, EHREMINGL NG, REEAIGMNAE,

e The specified amount of lubricant has been added
before delivery, so the reducers can be used directly
when arrived.

e Please confirm the rolling direction of the output
shaft and increase the load gradually at the first time
operating.

BERPHESER
Notes need attention during operating

o EIENETH,
o M EER B R THE R,
o HITIEREN, FHEKLE,
1. RERAF S,
2. RALEHBRKFNE,
3. BRRAFERIRE,
o THMERWT, FRITAE,
1. BELTFIERE?
2. . S8, FSEELRG?
3. MBEELHEELERE?

Do not overloaded.
e The rolling speed of the output shaft should not be
faster than the specified one.
e Please shut the machine down when following situation
shows.
1.The temperature rise suddenly.
2.Strange noise are emerged.
3.The rolling speed becomes unstable.
e The possible reasons are as follows, please make sure
to deal with it in time.
1.Whether it is overloaded or not?
2.Are the axletrees, gear wheels and the rolling side
damaged?
3.Is the connecting condition abnormal?

i EE
The lubricant managing
o JHAETBEE R,

e The grease can not be replace.

\NANSHSIN®

sBiEs
Daily check

BEDRETNSEEELSRE LFA? (B5FAF0C)
R, W EERAIA T S

FEAELT FEIRN? (R sse, ey RaRAs, )
BEEBBRM? (HIhsR, SEABAD, )

Whether the temperature of the reducer shell rise
abnormally?(Maximum 90 °C)

Are there any abnormal noise on axletrees or chain
wheels.

Is the reducer vibrating abnormally?(If it happens,
please shut down the machine and contact WANSHSIN
or our distributors)

Is the lubricant leaking?(If it happens, please contact
WANSHSIN or our distributors.)

EIIEE

Regular check

BEEHRE, BLRERE?
B, ER. AR R RKIEREETINE?
FERUNEESHER, (LNSEME, FIDENHRKERAS, )

Whether it is overloaded or rolling abnormally?

Is the belt pulley, chain wheel, the installation bolt of
the reducer loose?

The check and maintenance of main components.
(When there is an abnormal phenomenon, please shut
down the machine and contact WANSHSIN or our
distributors.

87



Committed To Building A World-class Transmission Brand \NANSHSIN®

Committed To Building A World-class Transmission Brand \NANSHSIN®



B THTE R — RN o B 5 \NANSHSIN®

Committed To Building A World-class Transmission Brand \NANSHSIN®



	WANSHSIN planetary gearbox catalogue 2021-10-29-1-25
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25

	WANSHSIN planetary gearbox catalogue 2021-10-29-26-47 (1)
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47


